National Testing Agency

Question Paper Name: 88 Electronic Science 3rd Dec 2019 Shift 1
Subject Name: 88 Electronic Science

Creation Date: 2019-12-03 14:39:40

Duration: 180

Total Marks: 300

Display Marks: Yes

28 Electrornic scierice

Group Number : 1

Group Id: 61547536
Group Maximum Duration : 0

Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 300

PART I General Paper

Section Id : 61547577
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 42
Number of Questionsto be attempted: 42
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 615475251
Question Shuffling Allowed : Yes
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Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

61547522101, 1
61547522102 2
61547522102, 3
E1547522104. 4

Question Number : 1 Question Id : 6154755667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547522101, 1
E1547522102. 2
B1547522103. 3
61547522104, 4

Question Number : 2 Question Id : 6154755668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547522105.1
61547522106, 2
B1547522107. 3
61547522108, 4

Question Number : 2 Question Id : 6154755668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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B1547522105. 1
61547522106, 2
61547522107, 3
61547522108, 4

Question Number : 3 Question Id : 6154755669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

615475221051
61547522110, 2
61547522111, =
B1547522112. 4



Question Number : 3 Question Id : 6154755669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475221051
61547522110, 2
61547522111, =
B1547522112. 4

Question Number : 4 Question Id : 6154755670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

BE1547522113. 1
B1547522114. 2
61547522115 3
E1547522116. 4

Question Number : 4 Question Id : 6154755670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475221121
61547522114, 2
61547522115 3
BE1547522116. 4

Question Number : 5 Question Id : 6154755671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547522117, 1
E15475221158. 2
BE15475221149. 3
B1547522120. 4

Question Number : 5 Question Id : 6154755671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547522117, 1
61547522118, 2
E15475221148. 3
B1547522120. 4

Question Number : 6 Question Id : 6154755672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



B1547522121.1
B1547522122 2
B1547522123. 3
E1547522124. 4

Question Number : 6 Question Id : 6154755672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE1547522121.1
B1547522122 2
B1547522123. 3
61547522124, 4

Question Number : 7 Question Id : 6154755673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475221251
61547522126 2
B1547522127. 3
B1547522128. 4

Question Number : 7 Question Id : 6154755673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547522126. 2
B1547522127. 3
B1547522128. 4

Question Number : 8 Question Id : 6154755674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547522129, 1
61547522120 2
61547522121, 5
61547522122 4

Question Number : 8 Question Id : 6154755674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547522129, 1
E1547522120. 2
61547522121,
61547522132 4

Question Number : 9 Question Id : 6154755675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547522133. 1
E1547522124. 2
61547522135 3
61547522136, 4

Question Number : 9 Question Id : 6154755675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547522133. 1
E1547522124. 2
61547522135 3
61547522136, 4

Question Number : 10 Question Id : 6154755676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547522137, 1
E1547522128. 2
E1547522139. 3
B1547522140. 4

Question Number : 10 Question Id : 6154755676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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615475221371
61547522128, 2
61547522139, 3
E1547522140. 4

Question Number : 11 Question Id : 6154755677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunmistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475221411
B1547522142 2
61547522142 3
61547522144, 4

Question Number : 11 Question Id : 6154755677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547522141. 1
B1547522142 2
61547522142 3
61547522144, 4

Question Number : 12 Question Id : 6154755678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3 teaching—learning process (4) management strategies



Options:

61547522145, 1
61547522146 2
E1547522147. 2
61547522148, 4

Question Number : 12 Question Id : 6154755678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547522145. 1
E1547522146. 2
B1547522147. 3
61547522148, 4

Question Number : 13 Question Id : 6154755679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B1547522149. 1
61547522150, 2
61547522151, 3
61547522152, 4

Question Number : 13 Question Id : 6154755679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE1547522148. 1
E1547522150. 2
61547522151, 3
61547522152, 4

Question Number : 14 Question Id : 6154755680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

615475221531
61547522154, 2
61547522155 3
E154752215E6. 4

Question Number : 14 Question Id : 6154755680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475221531
61547522154, 2
61547522155 3
E1547522156. 4

Question Number : 15 Question Id : 6154755681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (4) :  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear definitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (4)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false. but (R) 1s true

Options:
15475221571

E1547522158. 2
B1547522159. 3
B1547522160. 4

Question Number : 15 Question Id : 6154755681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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BE1547522157. 1
61547522158, 2
61547522159, 3
61547522160, 4

Question Number : 16 Question Id : 6154755682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

BE1547522161. 1
B1547522162. 2
B1547522163. 3
61547522164, 4

Question Number : 16 Question Id : 6154755682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547522161, 1
E1547522162. 2
61547522162, 3
E1547522164. 4

Question Number : 17 Question Id : 6154755683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475221651
61547522166, 2
BE1547522167. 3



BE1547522168. 4

Question Number : 17 Question Id : 6154755683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475221651
61547522166, 2
1547522167 2
61547522160 4

Question Number : 18 Question Id : 6154755684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HHPU=9, JNU =9, then DU =7

(1) 5 (%) 6
(3) 4 4 7
Options:

61547522169 1
BE1547522170. 2
B1547522171. 3
B1547522172. 4

Question Number : 18 Question Id : 6154755684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 2 (2) 6
(3) 4 4 7
Options:

BE154752216%9. 1
B1547522170. 2
61547522171, 3
B154752217Z2. 4

Question Number : 19 Question Id : 6154755685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475221731
61547522174 2
BE1547522175. 3
B1547522176. 4

Question Number : 19 Question Id : 6154755685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53. 63, 83

(1) 13 (2) 53
(3) 63 (4) 83
Options:

615475221731
61547522174, 2
61547522175 3
BE1547522176. 4

Question Number : 20 Question Id : 6154755686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 in two
yvears. Find out the principal amount.

(1) Rs. 1.900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547522177.1
B1547522178. 2
B1547522175. 3
61547522180, 4

Question Number : 20 Question Id : 6154755686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547522177.1
B1547522178. 2
B1547522175. 3
61547522180, 4

Question Number : 21 Question Id : 6154755687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547522181, 1
61547522182 2
E1547522183. 3
BE1547522184. 4

Question Number : 21 Question Id : 6154755687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547522181. 1
B1547522182. 2
61547522183, 3
61547522184, 4

Question Number : 22 Question Id : 6154755688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
(3) Sub contrary (4) Subaltern
Options:

BE1547522185. 1
B1547522186. 2
B1547522187. 3
61547522188, 4

Question Number : 22 Question Id : 6154755688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475221851
61547522186, 2
E1547522187. 3
E1547522188. 4

Question Number : 23 Question Id : 6154755689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

6154752218591
615475221390, 2
615475221391, 3
BE15475221592. 4

Question Number : 23 Question Id : 6154755689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154752218591
61547522130, 2
615475221391, 3
B15475221392. 4

Question Number : 24 Question Id : 6154755690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals”. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

BE1547522193. 1
61547522154 2
615475221385 3
E15475221396. 4

Question Number : 24 Question Id : 6154755690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o 2 =\ r ey
“gdl =519 TR AR T U%N & T & J2E 2 7

(1)  fagm fuy (2) T fag=
(3)  =EYm fmy (4) TEYE fEs
Options:

615475221921
615475221394, 2
E15475221395. 3
B1547522196. 4

Question Number : 25 Question Id : 6154755691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

6154752213971
615475221398, 2
E1547522199. 3
B1547522200. 4

Question Number : 25 Question Id : 6154755691 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

615475221397, 1
E15475221958. 2
BE15475221945. 3
B1547522200. 4

Sub-Section Number: 2
Sub-Section Id: 615475252
Question Shuffling Allowed : Yes

Question Id : 6154755692 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154755693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547522201, 1
E1547522202. 2
B1547522203. 3
B1547522204. 4

Question Number : 27 Question Id : 6154755694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

615475222051
61547522208, 2
E1547522207. 3
E1547522208. 4

Question Number : 28 Question Id : 6154755695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

61547522209, 1
E1547522210. 2
B1547522211. 3
B154752221%. 4

Question Number : 29 Question Id : 6154755696 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475222131
61547522214, 2
61547522215 3
B1547522216. 4

Question Number : 30 Question Id : 6154755697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

615475222171
E1547522218. 2
BE1547522218. 3
B1547522220. 4

Question Id : 6154755692 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



s : 9= 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 70 fafus TR 51991 575 5 Fog 1 ol 1 39 =
2| 31 % 9R W 9vT HEA (26-30) 1 I S0
s U Tt T S e 1 H@en (FEE )

; FH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154755693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9 2002 F9T 9 2005 T 59 T UH FogA F DA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547522201, 1
B1547522202. 2
B1547522203. 3
B1547522204. 4

Question Number : 27 Question Id : 6154755694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

BE1547522205. 1
B1547522206. 2
B1547522207. 3
61547522208, 4



Question Number : 28 Question Id : 6154755695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAE0 TT5 T fahl = A F91 F 20 ATTwad T

(1) =My (2) EE
) T (4) = H T
Options:

B1547522209. 1
B1547522210. 2
61547522211, 3
E1547522212. 4

Question Number : 29 Question Id : 6154755696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 fahi 1 wfav Fe Tk Fogza 1 g i g § sAtashag = ur?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475222131
61547522214, 2
61547522215 3
B1547522216. 4

Question Number : 30 Question Id : 6154755697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Farse, fyedh faf @ =39 2001 ¥ 99 2007 F S0 w69 TREZ R

(1) ] (2) THY
(3) eEETm (4) == H U=
Options:

61547522217, 1
B15475222158. 2
B15475222149. 3
B1547522220. 4

Sub-Section Number: 3
Sub-Section Id: 615475253



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154755698 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

B1547522221. 1
G1547522222 2
E1547522222. 3
B1547522224. 4

Question Number : 31 Question Id : 6154755698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

B1547522221. 1
B15d7522222 2
E1547522223. 3
E1547522224. 4

Question Number : 32 Question Id : 6154755699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

B1547522225. 1
B1547522226. 2
G1547522227. 3
E1547522228. 4

Question Number : 32 Question Id : 6154755699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() TS @ =
(3 = (4) ™
Options:

B1547522225. 1
B1547522226. 2
B1547522227. 3
E1547522228. 4

Question Number : 33 Question Id : 6154755700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements. choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547522229, 1
61547522230 2

61547522221, 3
E1547522232. 4

Question Number : 33 Question Id : 6154755700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =0 (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3HI T= &, 4 (R). (A) i T& == 74 2
(3) (A =E 2, g (R) &=t 75 =

4) (ATE T, FR) TR E

Options:

61547522229, 1
61547522220 2
E1547522221. 2
61547522232 4

Question Number : 34 Question Id : 6154755701 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms 1s related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547522233, 1
61547522234 2
61547522235 2
E1547522236. 4

Question Number : 34 Question Id : 6154755701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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{1} 3"_ Ao dl

2 3 IEdE

(3) A

4 -
Options:

BE1547522233. 1
B1547522234. 2
B1547522235. 3
G1547522236. 4

Question Number : 35 Question Id : 6154755702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—-View
(3) A-—Tutor

(4) A-Learner

Options:

61547522237, 1
61547522238 2
61547522239 2
E1547522240. 4

Question Number : 35 Question Id : 6154755702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fr=fafaa 8 & =0 =31 79 (7)) 9 391 Fe = ge w60 v gEel 39 (29) B 7
1) -

(2) -

(3) U-cHet

(4) U=

Options:
B1547522237. 1



B1547522238. 2
B1547522239. 3
B1547522240. 4

Question Number : 36 Question Id : 6154755703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

615475222411
G1547522242 2
61547522242 3
BE1547522244. 4

Question Number : 36 Question Id : 6154755703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 w18E 79, AeeEd 5§ R ety B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Ty
(¢) =AY

i

(d) -3 IEE

ety 7 8 w1 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547522241, 1
BE1547522242. 2
BE1547522243. 3
B1547522244. 4

Question Number : 37 Question Id : 6154755704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547522245 1
G1547522246. 2
E1547522247. 3
BE1547522248. 4

Question Number : 37 Question Id : 6154755704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seqeT # 9989H | Fefatad 7 B a0 |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

61547522245 1
61547522246, 2
E1547522247. 3
E1547522248. 4

Question Number : 38 Question Id : 6154755705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (1v)
(4) (1) and (1v)

Options:
E15475222459. 1



B1547522250. 2
B1547522251. 3
B154752225%. 4

Question Number : 38 Question Id : 6154755705 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
(1) Y-9rfia, AMfeh AR a2adi arii-a a3k

1)  TEE TERE g i

(i) o TATH FEl THZ-TEG TS TEl 396 T=EE | T A7

(1v)  FHE AgETg

fafefiga el § 3 =81 e =4 -
(1) (1) ¥ (i)
(2) (i) 3T (iii)
(3)  (iil) # (iv)
4) (1) # W (i)
Options:
E1E47FEZ22449 1
61547522250, 2

B1547522251. 3
B1547522252. 4

Question Number : 39 Question Id : 6154755706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
61547522252 1
E1547522254 2
61547522255 2
61547522256 4

Question Number : 39 Question Id : 6154755706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U TAE S3EE WA (0 fafee)
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(i) = AaF F= F T F
(iv)  TTHfdE HETEAT 1 HE FA 7

(v) T SEA & AT T geA e 2

Friferfian fpet & @ F9 T
(1) (). (i) 37 (i)
@  @. Gv) (W)
(3) (). (i) H (v)

(4) (i), (iv) T (V)

Options:

615475222531
61547522254 2
61547522255 2
E1547522256. 4

Question Number : 40 Question Id : 6154755707 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

TEE A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3) gzl fawm (4) oTE™ 3R wEd =
Options:

61547522257, 1
BE1547522258. 2
E1547522259. 3
B1547522260. 4

Yes



Question Number : 40 Question Id : 6154755707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o R weres f o et 20

(1) == =1 2 T F
(3) g faEe (4) EE AT TR T
Options:

B1547522257. 1
E1547522258. 2
B1547522259. 3
B1547522260. 4

Question Number : 41 Question Id : 6154755708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyava Philosophy with Deductive — Inductive Process

Options:

61547522261, 1
61547522262 2
E1547522262. 2
E1547522264. 4

Question Number : 41 Question Id : 6154755708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araier sone =+ e @ = g i

(1) TOeg T U9 Y e AR O & =9 o

(2)  TEavEE F YR W 5aHg 9T

(3)  ATE = A9 FOF I EAHEE F

(4)  TPTHATOIE - AR UG Ay = 39 e

Options:

61547522261, 1
E1S547522262. 2
1547522262 5
61547522264, 4



Question Number : 42 Question Id : 6154755709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching wvision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

B1547522265. 1
B1547522266. 2
G1547522267. 3
E1547522268. 4

Question Number : 42 Question Id : 6154755709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fratofas 4 @ #0 vF aAfdeas 2fe TR w2 S A ¥ W U6 S § 9 H AeEeE 2an
23
(1) T©RAEART (2) A uH O AR 7S A
(3) TH I AN TF (4) w=F T
Options:

61547522265, 1
E1547522266. 2
B1547522267. 3
B1547522268. 4

Question Number : 43 Question Id : 6154755710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547522269, 1
61547522270 2
61547522271, 2
61547522272 4

Question Number : 43 Question Id : 6154755710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547522269, 1
61547522270, 2
147522271 2
61547522272, 4

Question Number : 44 Question Id : 6154755711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(in) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

615475222731
61547522274, 2
B1547522275. 3
B1547522276. 4

Question Number : 44 Question Id : 6154755711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) @), (D) 7R @) (2) (). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

B1547522273. 1
B1547522274. 2
E1547522275. 3
E154752227E6. 4

Question Number : 45 Question Id : 6154755712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes in the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (111) and (v)
(4) (1), (11) and (v)

Options:

61547522277, 1
61547522278 2
615475222793 2
615475222804



Question Number : 45 Question Id : 6154755712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 31 = T= 4 ° faem =9 9 weTeRs At (Suim) # metia g 1 mem Fifw

(1) M | Ag-a%

(i) A = IEEEAT

(i)  Afvew HvE-—am § =2

(iv)  fa=i= Feem

(v)  =E A TEare & weE T T e
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feTiaa fTFeT 8 © 399 =1 =999 Firan

(1) (@), (i) =W (vi)
@ (i), (v) FR (v)
(3) (i), (iii) 37 (iv)
@) (). () AT (v)

Options:

61547522277, 1
61547522278 2
E1547522279. 2
61547522250, 4

Sub-Section Number: 4
Sub-Section 1d: 615475254
Question Shuffling Allowed : Yes

Question Id : 6154755713 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalism

later.

Sub questions

Question Number : 46 Question Id : 6154755714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
615475222511
B1547522282 2
61547522253 3
1547522254, 4

Question Number : 47 Question Id : 6154755715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547522285, 1
E1547522286. 2
B1547522287. 3
B1547522288. 4

Question Number : 48 Question Id : 6154755716 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547522289, 1
61547522290 2
61547522291, 2
61547522292 4

Question Number : 49 Question Id : 6154755717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

615475222531
61547522294, 2
61547522235 3
BE1547522236. 4

Question Number : 50 Question Id : 6154755718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B1547522297. 1
B1547522298. 2
B15475222595. 3
61547522300, 4
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61547522281, 1
61547522282 2
61547522282 2
E1547522284. 4
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B1547522285. 1
B1547522286. 2
B1547522287. 3
E1547522288. 4
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61547522289 1
E1547522230. 2
BE1547522231. 3
B1547522292. 4
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Options:

615475222531
61547522294, 2
61547522235 3
E1547522236. 4
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61547522297, 1
61547522298, 2
61547522299 2
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Question Number : 51 Question Id : 6154755719 Question Type: MCQ Option Shuffling : No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a Bipolar Junction transistor. the collector current 1s

(1) £1ﬁ0+ﬁl’ﬁ (2) iJrI_B
- A 148 B8
o B 35 w e
l-a «a 1-8 «
Options:

61547522201, 1
61547522302 2
61547522303, 3
E1547522204. 4

Question Number : 51 Question Id : 6154755719 Question Type: MCQ Option Shuffling: No Display Question Number
Single Line Question Option : No Option Orientation : Vertical

tYes

:Yes



Correct Marks: 2 WrongMarks: 0

In a Bipolar Junction transistor. the collector current 1s

a5 Liipi, @ Je I8
a 148 B
o B "y W
l-a a L=
Options:

E1547522201. 1
B15475222302. 2
61547522203, 3
61547522204, 4

Question Number : 52 Question Id : 6154755720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a semiconductor, the concentration of holes in valence band can be given as

() Nyexp[-(Er—E,) kT] (2) Nyexp|(Er—Ey )/ kT]
kT \ kT : \
(3) i Ny exp|(E; —E | (4) ~ exp|-(Ez —Ey |
Options:

E1547522305. 1
E1547522306. 2
B1547522207. 3
61547522208, 4
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Correct Marks: 2 Wrong Marks: O

In a semiconductor, the concentration of holes in valence band can be given as

() Nyexp[-(Er—E,)/ kT] (2) Nyexp|(Er—Ey )/ kT]
kT . kT . _
(3) i Ny exp|(E; —E | (4) ~ exp|-(Ez —Ey |
Options:

61547522305, 1
E1547522306. 2
BE1547522207. 3
61547522208, 4
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For a semiconductor with electrons and holes as carriers, the resistivity 1s given as

1 1
o T — @
Ho -+ . D alga-n+ 115 p)

1
algy.n— 1. p)

(3) q-lu, .n+,up.p) (4)

Options:

61547522209, 1
61547522210 2
61547522211, 2
1547522212 4
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For a semiconductor with electrons and holes as carriers, the resistivity 1s given as

1 1
o T — @
Ho -+ . D alga-n+ 115 p)

1
algy.n— 1. p)

(3) q-lu, .n+,up.p) (4)

Options:

61547522209, 1
61547522210 2
61547522211, 2
1547522212 4

Question Number : 54 Question Id : 6154755722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Bandgap energy of silicon depends on temperature (T) and can be described as

(1) E (T)=121+12T (2) E.(T)=121-3.60x107*T
(3) E. (T)=1.21+3.60x107*T (4) E (T)=1.21+10"T
Options:

615475222131
615475222314, 2
61547522315 3
61547522316, 4
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The Bandgap energy of silicon depends on temperature (T) and can be described as

(1) E.(T)=1.21+12T (2) E.(T)=121-3.60x107*T
(3) E. {T}=1.21+3.60x10'4T (4) E (T)=1.21+10"T
Options:

BE1547522213. 1
615475222314, 2
61547522315 3
61547522316, 4

Question Number : 55 Question Id : 6154755723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The depletion layer width at thermal equilibrium for one-sided abrupt p-n junction diode
(where Ng=NporN,) is

[0~ 17 |
o 25V @ [N
V aNp V2&, Vi
———— ; L2
(3) Iles—ﬂlf (4) ﬂ
\ 2Ny L alNg |
Options:

B15475222317. 1
B1547522218. 2
61547522215, 3
61547522320, 4

Question Number : 55 Question Id : 6154755723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The depletion layer width at thermal equilibrium for one-sided abrupt p-n junction diocde
(where Ng=NporN,) 1s

[ T [
(1) llgts-"hf (2) I| qNg
\ aNg V2& Vy
— F .
(3} || ES ﬂf {4} [EES Lrhf
\IEqNB \ QNB
Options:

61547522317, 1
E1547522218. 2
B1547522219. 3
B1547522320. 4



Question Number : 56 Question Id : 6154755724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The one-dimensional Poisson equation for the surface space charge region at the drain 1s

o P ) ® T%-T9(N, N, 4 pen)
ox” 'ES ox- 'ﬁ'S
8w — s - - :§ w
® 2¥Y_"9N,*"-N, +p-n) @ “E-"Z(p-n)
cx” L ox- s
Options:

BE15475225321. 1
B1547522322 2
B1547522323. 3
G1547522324. 4
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The one-dimensional Poisson equation for the surface space charge region at the drain 1s

8° —_ h, By — + "
3 e O B[R S @ ¥_"%n,*+N, +p+n)
dx A il 2
. § - - Py —
@ ¥ 9N, -N, +p-n) @ ZX-"9(p-n)
ox" &, o B
Options:

6154752223211
G1547522322 2
E1547522323. 3
E15475225324. 4

Question Number : 57 Question Id : 6154755725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The pull-up to pull-down ratio for n-MOS inverter driven by another n-MOS 1nverter 1s

{-Il-"'rfnt: + L'rt :IE |{1;;!']'1-1; = H :F

(Viaf (- Vi)

Vi —V2) o
Options:

B15475225325. 1
B1547522326. 2
B1547522327. 3



B15475225328. 4

Question Number : 57 Question Id : 6154755725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The pull-up to pull-down ratio for n-MOS inverter driven by another n-MOS inverter 1s

{1.?1:]'115 + I;t :IE {I;E'ZH-L' i ll?; ]E
(Vig) (- Vaa)
(3) s Y e
[-anr: = I"TE } :] {anr e L'rf }
Options:

615475223251
G1547522326. 2
E1547522327. 3
BE1547522328. 4

Question Number : 58 Question Id : 6154755726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If D, is the frequency factor, E is the activation energy, T 1s the temperature and K 1s
Boltzmann constant. then the diffusivity determined over a range of diffusion temperature
can be expreszsed as

(1)  D,exp(-E/kT) (2) D,exp(-kT/E)
kT \

(3) — exp(D,/E) (49 D,exp(kT/q)
q

Options:

6154752232591
61547522320, 2
615475223351, 3
E15475225332. 4

Question Number : 58 Question Id : 6154755726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
If D, 1s the frequency factor, E 1s the activation energy, T 1s the temperature and K 1s
Boltzmann constant. then the diffusivity determined over a range of diffusion temperature
can be expressed as

(1) D, expl-E/kT) (2) D,exp(-kT/E)
kT \

(3) — exp(D,/E) (49 D,exp(kT/q)
q

Options:

615475223291



B15475222330. 2
B15475222321. 3
B154752233%. 4

Question Number : 59 Question Id : 6154755727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The process which offers the possibility of growing high-quality oxides at temperatures even
lower than those achieved with the high-pressure technique 1s

(1) Wet oxadation (2) Dryv oxidation
(3) Anodic-plasma oxidation (4) HCL Dry oxadation
Options:

61547522332 1
61547522334, 2
E15475225335. 3
E15475222336. 4
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The process which offers the possibility of growing high-quality oxides at temperatures even
lower than those achieved with the high-pressure technique 1s

(1) Wet oxadation (2) Drv oxidation
(3) Anodic-plasma oxidation (4) HCL Dry oxidation
Options:

B15475222333. 1
61547522324, 2
61547522335 3
61547522356, 4

Question Number : 60 Question Id : 6154755728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
During the crystal growth. if A is constant, E, 1s the activation energy. T 1s the absolute

temperature and %k 1s Boltzmann's constant then the concentration of point defects can be
expreszed as

(1) Aexp (RT/E,) (2) Aexp (—E,/kT)
(3) exp (RT/AE,) (4) Aexp (-kT/E,)
Options:

E15475223537. 1
E15475225358. 2
B15475225339. 3



B15475222340. 4

Question Number : 60 Question Id : 6154755728 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
During the crystal growth. if A i1s constant, E, 1s the activation energy. T 1s the absolute

temperature and k 1s Boltzmann's constant then the concentration of point defects can be
expressed as

(1) Aexp (kT/E,) (2) Aexp (-E,/kT)
(3) exp (RT/AE,) (40 Aexp (-kT/E,)
Options:

E15475225337. 1
E1547522238. 2
B15475222335. 3
615475222340, 4

Question Number : 61 Question Id : 6154755729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For a periodic signal f(t) satisfying Dirichlet conditions then the Fourier series consist of

(1) Sine and cosine terms (2) DC. sine and cosine terms
(3) DC and cosine terms (4) Only cosine terms
Options:

E15475225341. 1
B15475222342 2
B15475222343. 3
61547522344, 4
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For a periodic signal f(t) satisfying Dirichlet conditions then the Fourier series consist of

(1) Sine and cosine terms (2) DC. sine and cosine terms
(3) DC and cosine terms (4) Only cosine terms
Options:

BE15475225341. 1
B15475222342 2
B15475222343. 3
61547522344, 4

Question Number : 62 Question Id : 6154755730 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Decimation-in-time algorithm 1s the class of

(1) Discrete Fourler transform (2) Z-transform
(3) Laplace - transform (4) Fast Fourier transform
Options:

615475222451
61547522346, 2
61547522347, 3
E15475223248. 4
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Decimation-in-time algorithm 1s the class of

(1) Discrete Fourler transform (2) Z-transform
(3) Laplace - transform (4) Fast Fourier transform
Options:

BE15475222345. 1
B15475222346. 2
B15475222347. 3
61547522348, 4
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The Laplace transform of the wave as shown 1n figure 1s

T

-
D T 1t
) 2 _ _iﬂE—TSIE B 1 _ TS
TS TS8* TS5"
2) 2 E _iﬂe—TS;‘i ._iqe—rs
e~ TS TS
3) iﬁ_ 49 o~ T512 Ea oS
e Ta s
(4) 1 L 4ﬂ o~TSI2 | 1 _ TS
5 T& TS~
Options:

61547522349 1
E1547522350. 2
BE15475222351. 3
B1547522352. 4
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The Laplace transform of the wave as shown 1n figure 1s

T

)
D T 1t
(1) 2 _ _iﬂE—TSIE B 1 _ TS
T35 T8 I5°
2) 2 E _iﬂe—TS;‘i e Eq oIS
T s T8
3) iﬁ_ 49 o T512 | Ea TS
s T8 TS
{4} 1 —— 4 - E—TS.I'E +L¢-_, E_TS
e o5 TS
Options:

61547522349 1
E1547522350. 2
BE15475222351. 3
B1547522352. 4

Question Number : 64 Question Id : 6154755732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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The symmetry property of Discrete Fourier Transform (DFT) 1=

1) xR SX(- <n<N-1

Jx]. 0
2  x [nl«ZES5X[(K)),]. 0sn<N -1
@  x ]« X[(-K)y]. 0sn<N -1

(4) x [N« ZES X[(K))y]. 0sn=N -1

Options:

615475222353, 1
61547522354 2
61547522355 2
61547522356 4
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The symmetry property of Discrete Fourier Transform (DFT) 1s
1)  x[n<ZESX[(-K)),]. 0<nsN-1

2 x2S X[(K)),]. 0sn<N-1

@) x [n]«ZSX[(-K)y]. 0snsN-1

4  x[n«ZESX[(K))y] 0sn<N -1

Options:

615475223531
E15475223254 2
61547522355, 5
61547522356 4

Question Number : 65 Question Id : 6154755733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the waveform as shown 1n figure

The correct representation of the waveform 1s
(1) s(t)=2tu(t—1)-2tu(t) +2ult - 2)

@  s®)=2t-1)ult-1)+2(t-2)u@) +2u(t-2)
(3) s(t)=2tult-1)+2(t-2)u(t-2)-2ult-2)

(4) s(t)=2(t-1)u(t-1)-20t-2)u(t-2)-2u(t-2)

Options:
615475223571

E1547522358. 2
B1547522359. 3
B15475222360. 4
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Consider the waveform as shown 1n figure

Qv P
2

1 -

The correct representation of the waveform 1s
(1) s(t)=2tu(t —1)-2tu(t)+2ult - 2)

@2 s®=20-1)ult-1)+2(t-2)u@)+2ut-2)
(3) s(t)=2tult-1)+2(t-2)u(t-2)-2ult-2)

(4) s(t)=2(t-1)u(t-1)-20-2)u(t-2)-2ult-2)

Options:

61547522357, 1
61547522358 2
61547522359 2
61547522360 4
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The amount of ripple in output voltage (V,;) of a frequency to voltage converter 1s

(1)

(2)

(3)

(4)

Options:

Directly proportional to value of integrating capacitor (C;,) and the frequency of the

input (f;,)

Inversely proportional to value of integrating capacitor (C,, ) and the frequency of the

input (f;,)

Independent of value of integrating capacitor (C,, ) and also independent of frequency

of input (£, )

Independent of frequency of input (f,) but directly proportional to value of

Integrating capacitor {:le

BE1547522561. 1
B1547522362. 2
B1547522363. 3
B1547522364. 4
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The amount of ripple in output voltage (V) of a frequency to voltage converter is

(1)

(2)

(3)

(4)

Options:

Directly proportional to value of integrating capacitor (C,,) and the frequency of the

input (f;,)

Inversely proportional to value of integrating capacitor (C,, ) and the frequency of the

input (f;,)

Independent of value of integrating capacitor (C;,) and also independent of frequency

of input { fin }

Independent of frequency of input (f,) but directly proportional to value of

integrating capacitor {:Cm]

61547522361, 1



B15475225362. 2
B1547522363. 3
B1547522364. 4

Question Number : 67 Question Id : 6154755735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following options give correct relations of center frequency (f,,;) and lock
range (f; ) of a PLL (Phase Lock Loop)?

& G E%Hz-ﬁ ~22lu gy,

(2) fau:'f%ﬂzsfz.=i4{ﬁm H,

3) f@z%fiz.fﬁ:zi—mﬂz

@ fu a% H,,fj~ 8{‘1“‘ i 8
Options:

B15475225365. 1
B1547522366. 2
E1547522367. 3
61547522368, 4

Question Number : 67 Question Id : 6154755735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following options give correct relations of center frequency (f,,;) and lock
range {fL} of a PLL (Phase Lock Loop)?

O g Hof =2,

(2) fuuafﬂllil stfz.=i4{ﬁm H,

3 f;urz%m.ff:i—mﬂz

@ fu s Hofums it E,
Options:

61547522365 1
E1547522366. 2
B1547522367. 3



E1547522368. 4

Question Number : 68 Question Id : 6154755736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The input impedance of a transistor with an emitter resistor in a emitter-bias confizuration
1s given by

1)  Z,=fr.+(8+1)R;
(2) Z.=8r.+(B+1)R:/Ry
(3} an:ﬁre+{ﬁ+1}RE

(4) Z,=\f+1)r,+2 B R;

Options:

61547522369, 1
61547522370 2
615475223271 2
E1547522272. 4

Question Number : 68 Question Id : 6154755736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The input impedance of a transistor with an emitter resistor in a emitter-bias configuration
1s g1ven by

(1) Z. =pr,+(8+1)R;
(2) Z.=Br,+(8+1)Rz /Ry
{3} anzﬁre'_:{ﬁ‘i'l}RE

- "

(4) Z,=\f+1)r,+2 B R;

Options:

61547522269, 1
61547522370 2
61547522371, 2
61547522372 4

Question Number : 69 Question Id : 6154755737 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If R, 1= the source resistance. the output resistance of an emitter-follower circuit using
simplified hybrid model would be

1) 1/h, @ hetl/Es
he
3) Rs+1/h, @ MwtBs
1+hy
Options:

615475223731
61547522374, 2
61547522375 3
BE15475225376. 4

Question Number : 69 Question Id : 6154755737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If R, 1= the source resistance. the output resistance of an emitter-follower circuit using
simplified hybrid model would be

1) 1/h, @ Hetl/Es
he
3) Rs+1/h, @ MwtBs
1+hy
Options:

615475223731
61547522374, 2
61547522375 3
BE15475225376. 4

Question Number : 70 Question Id : 6154755738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In n-channel enhancement-type MOSFET. as Vs 1s increased beyond threshold level

(1) Drain current will decrease
(2) Density of free carriers in induced channel will remain constant
(3) Density of free carriers in induced channel will decrease
(4) Density of free carriers in induced channel will increase
Options:

B15475222377. 1
B1547522378. 2
B1547522375. 3
E1547522380. 4



Question Number : 70 Question Id : 6154755738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In n-channel enhancement-type MOSFET, as Vas 1s increased beyond threshold level

(1) Drain current will decrease
(2) Density of free carriers in induced channel will remain constant
(3) Density of free carriers in induced channel will decrease
(4) Density of free carriers in induced channel will increase
Options:

B1547522377. 1
B1547522378. 2
B1547522375. 3
61547522380, 4

Question Number : 71 Question Id : 6154755739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Solve the following Boolen expression ¥ =A (4 +C| {E B +C} (ABC +T)

Select the correct option

(1) 0 (2) A+ B
3) A+BC 4) 1
Options:

61547522381, 1
61547522382, 2
E1547522383. 3
BE15475222384. 4

Question Number : 71 Question Id : 6154755739 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Solve the following Boolen expression ¥ =A (4 +C| {E B +C} (ABC +C)

Select the correct option

(1) 0 (2y A+ B
3 A+BC 4 1
Options:

B15475225381. 1
B1547522382. 2
61547522383, 3
615475223854, 4



Question Number : 72 Question Id : 6154755740 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A PROM can be made using

(1) A fixed AND array and programmable OR array

(2) A programmable AND array and fixed OR array

(3) A programmable AND array and a programmable OR array
(4) A fixed AND array and a fixed OR array

Options:

61547522385, 1
61547522386 2
61547522287, 2
E1547522288. 4

Question Number : 72 Question Id : 6154755740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A PROM can be made using
(1) A fixed AND array and programmable OR array
(2) A programmable AND array and fixed OR array
(3) A programmable AND array and a programmable OR array
(4) A fixed AND array and a fixed OR array

Options:

61547522285, 1
61547522386 2
61547522387, 2
61547522288 4

Question Number : 73 Question Id : 6154755741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A divide by 50 counter can be realized by using
(1) 5 numbers of MOD-10 counter
(2) 10 numbers of MOD-5 counter
(3) One MOD-5 counter followed by one MOD-10 counter

(4) 10 numbers of MOD-10 counter

Options:
61547522289, 1



B15475223390. 2
61547522351, 3
B154752238%. 4

Question Number : 73 Question Id : 6154755741 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A divide by 50 counter can be realized by using
(1) 5 numbers of MOD-10 counter
(2) 10 numbers of MOD-5 counter
(3) One MOD-5 counter followed by one MOD-10 counter

(4) 10 numbers of MOD-10 counter

Options:

61547522289, 1
61547522290 2
61547522391, 2
61547522392 4

Question Number : 74 Question Id : 6154755742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The figure of merit (FOM) of a logic family 1s given by the product of

(1) (Gain and bandwidth

(2) Propagation delay and power dissipation

(3 Fan out and propagation delay time

(4) Nolse margin and power dissipation
Options:

61547522392 1
E15475225394. 2
B1547522395. 3
B15475223596. 4

Question Number : 74 Question Id : 6154755742 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The figure of merit (FOM) of a logic family 1s given by the product of

(1) (Gain and bandwidth

(2) Propagation delay and power dissipation

(3) Fan out and propagation delay time

(4) Noise margin and power dissipation
Options:

6154752235931
61547522394, 2
615475223395 3
E154752253596. 4

Question Number : 75 Question Id : 6154755743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Find the function represented by the following circuit

— o/pP
¥

(1) A+B+C (2) AB
(3) AB+C 4 B+C
Options:

615475223971
61547522398, 2
61547522399, 3
E1547522400. 4

Question Number : 75 Question Id : 6154755743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Find the function represented by the following circuit
A
Ae] : ' ] P —
X
B—] u
Y
W
JOP— - *
B W -

(1) A+B+C (2) AB
(3) AB+C 4 B+C
Options:

61547522397, 1
E1547522398. 2
61547522399, 3
E1547522400. 4

Question Number : 76 Question Id : 6154755744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 8086 microprocessor, 1f DS = 1100 H, BX = 0200 H and SI = 0500 H, the address accessed
by

MOV CH, [BX + SI] is

(1) 00300 H

(2) 11700 H

(3) 0700 H

(4) 01800 H
Options:

E1547522401. 1
E1547522402. 2
B1547522403. 3
61547522404, 4

Question Number : 76 Question Id : 6154755744 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In 8086 microprocessor, 1f DS = 1100 H, BX = 0200 H and SI = 0500 H, the address accessed
by

MOV CH, [BX + S is

(1) 00300 H

(2) 11700 H

(3) 0700 H

(4) 01800 H
Options:

61547522401, 1
E1547522402. 2
E1547522403. 3
B1547522404. 4

Question Number : 77 Question Id : 6154755745 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What 1s the value of Register A at the end of program given below

MOV A . #36 H
RRA

RRA

RRA

(1) 01100011
(2) 1100 0110
(3) 1000 1101
(4) 0011 0001

Options:

61547522405, 1
61547522406, 2
61547522407, 2
61547522408 4

Question Number : 77 Question Id : 6154755745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the value of Register A at the end of program given below

MOV A.#36 H
RRA

RRA

RRA

(1) 01100011
(2) 1100 0110
(3) 1000 1101
(4) 0011 0001

Options:

61547522405 1
61547522406, 2
61547522407, 5
61547522408, 4

Question Number : 78 Question Id : 6154755746 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What will be the status of CY. AC and P flags after implementation of following sets of

instructions 1in 8051 microcontroller

MOV A, # CCH

ADD A, #A9H

(1) CY=1.AC=1.P=0 2y CY=1.AC=0.P=0
(3) CY=1.AC=1,P=1 4 CY=0,AC=1.P=1
Options:

61547522405 1
61547522410 2
61547522411, 3
B15475224172. 4

Question Number : 78 Question Id : 6154755746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What will be the status of CY., AC and P flags after implementation of following sets of

instructions in 3051 microcontroller

MOV A . # CCH

ADD A, #A9H

(1) CY=1.AC=1.P=0 (2) CY=1,AC=0.P=0
(3) CY=1.AC=1,P=1 4 CY=0,AC=1.P=1
Options:

E154752240%3. 1
E1547522410. 2
B1547522411. 3
G154752241%. 4

Question Number : 79 Question Id : 6154755747 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In 8051 microcontroller. which register 1s used solely for seral communication?

(1) TMOD (2) SCON
(3) SBUF (4) PCON
Options:

615475224121
61547522414, 2
61547522415 3
E1547522416. 4

Question Number : 79 Question Id : 6154755747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 8051 microcontroller. which register 1s used solely for seral commumication?

(1) TMOD (2) SCON
(3) SBUF (4) PCON
Options:

615475224121
E1547522414. 2
E1547522415. 3
B1547522416. 4

Question Number : 80 Question Id : 6154755748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which Register Bank of 8051 mucrocontroller iz used after implementing the following

1nstruction

SETB PSW.4

(1) Bank 0 (2) Bank1

(3) Bank 3 (4) Bank 2
Options:

BE1547522417. 1
E1547522418. 2
B1547522419. 3
B1547522420. 4

Question Number : 80 Question Id : 6154755748 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which Register Bank of 8051 mucrocontroller is used after implementing the following

1nstruction

SETB PSW .4

(1) Bank 0 (2) Bankl1

(3) Bank 3 (4) Bank 2
Options:

615475224171
61547522418, 2
61547522419, 3
E1547522420. 4

Question Number : 81 Question Id : 6154755749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1= the absolute potential at a point ‘p” which 1s 2m from a point charge @=+5uC and

the work required to move a + 8 nC charge from infinity to P ? Assume &, =1

(1) 22 KV. 176 uJ (2) 23KV.184ud
(3) 23.5 KV,188 udJ (4) 225KV, 180uJ
Options:

615475224211
E1547522422 2
61547522422 3
E1547522424. 4



Question Number : 81 Question Id : 6154755749 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the absclute potential at a point ‘p” which 1s 2m from a point charge @ =+5uC and

the work required to move a + 8 nC charge from infinity to P ? Assume =, =1

(1) 22 KV. 176 uJ (2) 23KV.184 uJd
(3) 23.5 KV, 188 udJ (4) 225KV, 180uJ
Options:

E1547522421. 1
B1547522422. 2
BE1547522423. 3
B1547522424. 4

Question Number : 82 Question Id : 6154755750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the poynting vector or power density of a TEM wave = 79.6 W/m? 1n a loss less medium

(0=0) with €,=4 then the magnitude of Electric field is

(1) 86.62 Vim ™ (2) 173.23Vm™*
(3) 1925 Vm™ (4) 43.30 Vm™}
Options:

B1547522425. 1
B1547522426. 2
B1547522427. 3
E1547522428. 4

Question Number : 82 Question Id : 6154755750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the poynting vector or power density of a TEM wave = 79.6 W/m? 1n a loss less medium

(c=0) with €,=4 then the magnitude of Electric field is

(1) 86.62 Vm™ (2) 173.23Vm!
(3) 1225 Vm™* (4) 4330 Vm™
Options:

E1547522425. 1
E154752242E. 2
B1547522427. 3
B1547522428. 4



Question Number : 83 Question Id : 6154755751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Evaluate radiation resistance of a hertzian dipole as radiating element having length L=1m

at f =30 MHz with uniform current distmbution

(1) 90 2) 104Q
(3) 5 Q (40 80
Options:

615475224291
61547522430, 2
E1547522421. 3
B1547522432. 4

Question Number : 83 Question Id : 6154755751 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Evaluate radiation resistance of a hertzian dipole as radiating element having length L=1m

at f=30 MHz with umiform current distribution

(1) 90 2y 100
(3) 50 (40 80
Options:

6154752242591
61547522430, 2
61547522431, 3
B1547522432. 4

Question Number : 84 Question Id : 6154755752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The fields around an antenna may be divided into two principal regions 1.e Fresnel zone and
Fraunhofer zone. If L 1s the maximum dimension of the antenna and A 1s wavelength, then

radius of the Fresnel-Fraunhofer boundary sphere 1s

L‘E
(1 R=—
) 24
L
(2 R=—
) 24
9 2
(3 =
) A
@ R-Z
2
Options:

61547522433 1
61547522424, 2
61547522435 3
E1547522436. 4

Question Number : 84 Question Id : 6154755752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The fields around an antenna may be divided into two principal regions 1.e Fresnel zone and

Fraunhofer zone. If L 1s the maximum dimension of the antenna and A 1s wavelength, then

radius of the Fresnel-Fraunhofer boundary sphere 1s

L‘E
(1 R=—
) 24
L
(2 R=—
) 24
9F:
(3 =
) A
@ R=Z
2
Options:

615475224331
61547522424, 2
61547522435 3
E1547522436. 4



Question Number : 85 Question Id : 6154755753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Standing wave envelope for reflected wave 1s equal to half the incident wave amphtude

(E, =0.5E;). The Voltage Standing Wave Ratio (VSWR) of the wave shall be

(1) 1/3 & 2
(3) 3 (4) 1/2
Options:

E1547522437. 1
B1547522438. 2
B1547522435. 3
61547522440, 4

Question Number : 85 Question Id : 6154755753 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Standing wave envelope for reflected wave 1s equal to half the incident wave amplitude

(E, =0.5E;). The Voltage Standing Wave Ratio (VSWR) of the wave shall be

(1) 1/3 Zy 2
(3) 3 (4 L2
Options:

61547522437, 1
61547522438, 2
E1547522439. 3
E1547522440. 4

Question Number : 86 Question Id : 6154755754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Figure of Merit in DSB-SC system 1s

(1) 0.5 &, @
@ A+ i) 4 2
Options:

615475224411
E1547522442 2
E1547522443. 3
E1547522444. 4

Question Number : 86 Question Id : 6154755754 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The Figure of Merit in DSB-SC system 1s

(1) 0.5 2 2
@ A2+ 4) @) 2
Options:

E1547522441. 1
B1547522442 2
B1547522443. 3
61547522444, 4

Question Number : 87 Question Id : 6154755755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The frequency range for satellite communication 1s

(1) 1 KHz — 100 KHz
(2) 100 KHz — 1 MHz
(3) 10 MHz — 30 MHz
(4) 1 GHz — 30 GHz

Options:

61547522445, 1
61547522446, 2
61547522447 2
61547522448 4

Question Number : 87 Question Id : 6154755755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The frequency range for satellite communication 1s

(1) 1 KHz - 100 KHz
(2) 100 KHz — 1 MHz
(3) 10 MHz — 30 MHz
(4) 1 GHz — 30 GHz

Options:

61547522445 1
61547522446 2
61547522447 2
61547522445, 4

Question Number : 88 Question Id : 6154755756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The cladding which surrounds the optical fibre core

(1) 15 used to reduce optical interference
(2) 15 used to protect the fibre
(3) acts to help guide the light 1n the core

(4) ensure that the refractive index remains constant

Options:

61547522449, 1
61547522450 2
61547522451 =2
E1547522452 4

Question Number : 88 Question Id : 6154755756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The cladding which surrounds the optical fibre core

(1) 1s used to reduce optical interference
(2) 15 used to protect the fibre
(3) acts to help guide the light 1n the core

(4) enzure that the refractive index remains constant

Options:

61547522449, 1
61547522450 2
61547522451, =
61547522452 4

Question Number : 89 Question Id : 6154755757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A binary data sequence 11001110 1s applied to 16-arv PSK modulator system for
transmission. The bit duration 1z 1 g sec. The transmission band width of 16-ary PSK 1s

(1) 1 MHz (2) 0.67 MHz
(3) 0.5 MHz (4) 0.37MHz
Options:

BE1547522453. 1
B1547522454. 2
61547522455 3
61547522456, 4



Question Number : 89 Question Id : 6154755757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A binarv data sequence 11001110 1s applied to 16-arv PSK modulator system for
transmission. The bit duration 1s 1 g sec. The transmission band width of 16-ary PSK 1s

(1) 1 MHz (2) 0.67 MHz
(3) 0.5 MHz (4) 0.37MHz
Options:

61547522453 1
E1547522454. 2
E1547522455. 3
B1547522456. 4

Question Number : 90 Question Id : 6154755758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A TDM hnk has 24 signals and each channel 1= sampled 8000 times/sec. Each sample 1s
represented by 8 binary bits and it contains an additional bit for synchronization. The total
bit rate made from the TDM link 1=

(1) 1600 K bits/sec (2) 1728 K bits/sec
(3) 1826 K bits/sec (4) 2056 K bits/sec
Options:

B1547522457. 1
61547522458, 2
61547522455, 3
61547522460, 4

Question Number : 90 Question Id : 6154755758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A TDM hnk has 24 signals and each channel 1z sampled 8000 times/sec. Each sample 1s
represented by 8 binary bits and it contains an additional bit for synchromization. The total
bit rate made from the TDM hink 1s

(1) 1600 K bits/sec (2) 1728 K bats/sec
(3) 1826 K bits/sec (4) 2056 K bits/sec
Options:

61547522457, 1
61547522458, 2
61547522459, 3
E1547522460. 4

Question Number : 91 Question Id : 6154755759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Cls) 16
Rls) s°+8s5+16

For the system

The nature of the time response will be

(1) Over damped (2) Under damped
(3) Critically damped (4) Steady
Options:

E1547522461. 1
B1547522462. 2
B1547522463. 3
61547522464, 4

Question Number : 91 Question Id : 6154755759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Cls) 16
R(s) s°+8s+16°

For the system

The nature of the time response will be

(1) Over damped (2)  Under damped
(3) Critically damped (4) Steady
Options:

61547522461, 1
G15475224E62. 2
E1547522463. 3
E1547522464. 4

Question Number : 92 Question Id : 6154755760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Choose the statement which 18 incorrect.

(1) The speed of a DC motor can be varied by controlling armature voltage
(2) The speed of a DC motor can be varied by controlling the field current

(3) The speed of a DC motor can be varied by controlling the armature current that 1s a

measure of the torque demand

(4) For a speed more than the base speed of a DC motor, the armature voltage 1s varied
to control the speed while armature and field currents are maintained constant
Options:
61547522465, 1
61547522466 2



B1547522467. 3
B1547522468. 4

Question Number : 92 Question Id : 6154755760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the statement which 18 incorrect.

(1) The speed of a DC motor can be varied by controlling armature voltage
(2) The speed of a DC motor can be varied by controlling the field current

(3) The speed of a DC motor can be varied by controlling the armature current that 1s a

measure of the torque demand

(4) For a speed more than the base speed of a DC motor. the armature voltage 1s varied
to control the speed while armature and field currents are maintained constant
Options:
E15475224685. 1
E1547522466. 2
61547522467, o
61547522468, 4

Question Number : 93 Question Id : 6154755761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The open loop transfer function of a umty feedback control system 1= given below

K

ists)~ sls+1)(s+3)

The system has

(1) 1 breakaway point
(2) 2 breakaway point
(3) 3 breakaway point

(4) 0 breakaway point

Options:

61547522469, 1
61547522470 2
61547522471, 5
61547522472 4

Question Number : 93 Question Id : 6154755761 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The open loop transfer function of a unity feedback control system 1= given below

i K
" sls+1)(s+3)

Gls)

The system has

(1) 1 breakaway point
(2) 2 breakaway point
(3 3 breakaway point

(4) 0 breakaway point

Options:

61547522469, 1
61547522470 2
61547522471, 2
E1547522472. 4

Question Number : 94 Question Id : 6154755762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The transfer function 1s given below
Cls) 2s+5
Rls) s®+1.5s"+28° +45° +5s+10

The number of roots with positive real part is

(1) 0 & 1
(3) 2 (4) 3
Options:

615475224731
61547522474, 2
61547522475 3
BE154752247E6. 4

Question Number : 94 Question Id : 6154755762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The transfer function 1s given below

Cls) 23+5

Rls) s°415s*+925° 145> +55+10°

The number of roots with positive real part 1s

(1) 0 & 1
(3) 2 (4) 3
Options:

615475224731
E1547522474. 2
E1547522475 3
B1547522476. 4

Question Number : 95 Question Id : 6154755763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

SCR di/dt protection 1s done by which of the following methods?

(1) Snubber circuit in parallel to SCR

(2) Trigger circuit at gate terminal

(3) By using commutation circuit

(4) Connecting inductance 1n series to SCR
Options:

E1547522477. 1
BE1547522478. 2
B15475224759. 3
61547522450, 4

Question Number : 95 Question Id : 6154755763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

SCR dv/dt protection 1s done by which of the following methods?

(1) Snubber circuit in parallel to SCR

(2) Trigger circuit at gate terminal

(3) By using commutation circuit

(4) Connecting inductance 1n series to SCR
Options:

615475224771
61547522478, 2
61547522479, 3
E1547522480. 4



Question Number : 96 Question Id : 6154755764 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In Schering bridge. the dissipation factor of a series RC circuit 1s defined as

(1) Cosine of the phase angle

(2) Tangent of the phase angle
(3) Cotangent of the phase angle
(4) Sine of the phase angle

Options:

615475224581, 1
61547522482, 2
61547522483 2
E1547522484 4

Question Number : 96 Question Id : 6154755764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Schering bridge. the dissipation factor of a series RC circuit 1s defined as

(1) Cosine of the phase angle
(2) Tangent of the phase angle
(3) Cotangent of the phase angle

(4) Sine of the phase angle

Options:
B15475252451. 1

E1547522482. 2
E1547522483. 3
B1547522484. 4

Question Number : 97 Question Id : 6154755765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a crossed coill power factor meter the moving coils should be mounted on which type of

shaft and at what angles to each other?

(1) different shafts and right angles
(2) same shaft and mght angles
(3) different shafts and 45° angles

(4) same shaft and 45° angles

Options:



BE1547522485. 1
B1547522486. 2
B1547522487. 3
61547522458, 4

Question Number : 97 Question Id : 6154755765 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In a crossed coill power factor meter the moving coils should be mounted on which type of
shaft and at what angles to each other?
(1) different shafts and right angles
(2) same shaft and right angles
(3) different shafts and 45° angles

(4) same shaft and 45° angles
Options:
61547522455 1
£1547522486. 2

B1547522487. 3
61547522458, 4

Question Number : 98 Question Id : 6154755766 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following expression 1s correct formulae of deflection sensitivity ‘S " of a
Cathode Ray Tube (CRT) if

D = deflection on the fluorescent screen

L = distance from center of deflection plates
l; = effective length of the deflection plates
d = distance between the deflection plates

E ;= deflection voltage

E_ = accelerating voltage

- " szd o He 2dE,
2d°E, Ll

& S5 Ll @ S- IL
2d E, 2dE,



Options:

615475224589, 1
61547522490 2
E1547522491. 2
61547522492, 4

Question Number : 98 Question Id : 6154755766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following expression 1s correct formulae of deflection sensitivity 'S " of a
Cathode Ray Tube (CRT) if

D = deflection on the fluorescent screen

L = distance from center of deflection plates
l; = effective length of the deflection plates
d = distance between the deflection plates

E ;= deflection voltage

E, = accelerating voltage

(1) S =LTIff (2) S= 2ok
2d°E, Ll
(3) g 1 (4 S-= Ly
2d E, 2dE,
Options:

61547522459, 1
E15475224380. 2
E15475224391. 3
B1547522452. 4

Question Number : 99 Question Id : 6154755767 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A 500 kHz waveform 1s to be displayed by Digital Storage Oscilloscope (DS0O) that samples

at a rate of 50 Ms/Sec (b0 Mega samples per second) The number of samples taken during

one cycle 1s

(1) 10.000

(2) 1.000

(3) 0.01

(4) 100
Options:

61547522453 1
61547522454 2
61547522435 3
615475224396, 4

Question Number : 99 Question Id : 6154755767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 500 kHz waveform 1s to be displayed by Digital Storage Oscilloscope (DS0O) that samples

at a rate of 50 Ms/Sec (50 Mega samples per second) The number of samples taken during

one cyecle 1s

(1) 10.000

(2) 1.000

(3) 0.01

(4) 100
Options:

BE1547522453. 1
B1547522454. 2
615475224385 3
E15475224396. 4

Question Number : 100 Question Id : 6154755768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Veloecity transducer essentially consists of one of the following

(1) moving coll fixed in the magnetic field of permanent magnet
(2) moving coll suspended 1n the magnetic field of a permanent magnet
(3) stationary coil fixed in the magnetic field of a supermagnet

(4) stationary coil fixed in a force balancing servo system

Options:

61547522497, 1
61547522498, 2
61547522499 =2
E1547522500. 4

Question Number : 100 Question Id : 6154755768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Veloecity transducer essentially consists of one of the following

(1) moving coll fixed in the magnetic field of permanent magnet
(2) moving coll suspended 1n the magnetic field of a permanent magnet
(3) stationary coil fixed in the magnetic field of a supermagnet

(4) stationary coil fixed in a force balancing servo system

Options:

61547522497, 1
61547522498, 2
61547522499 2
61547522500 4

Question Number : 101 Question Id : 6154755769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following semi conductor devices are hetero structure devices?
(a) HEMT

(b) MODFET

(c) UuJT

(d) GUNN Diode

The options are:

(1) (a) and (b) are correct
(2) (a) and (c) are correct
(3) (c) and (d) are correct

(4) (b) and (d) are correct

Options:

615475225011
61547522502, 2
61547522502 5
61547522504, 4

Question Number : 101 Question Id ;: 6154755769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following semi conductor devices are hetero structure devices?
(a) HEMT
(b) MODFET
(c) UJT
(d) GUNN Diode

The options are:

(1) (a) and (b) are correct
(2) (a) and (c) are correct
(3) (c) and (d) are correct

(4) (b) and (d) are correct

Options:
61547522501, 1
61547522502 2



E1547522503. 3
61547522504, 4

Question Number : 102 Question Id ;: 6154755770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The voltage gain of a common source amphifier shown in following figure 1s

ﬂ-—x'm

2

—— Vi

{a} T gm EL

1+2, 2z,
{b} gmzL

1+ g,
() Enfe

1+z;
‘:d;‘ gmzL
Options:
(1) (a) and (c) are correct

(2) (b) and (d) are correct
(3) (a) 1s correct but (d) 1s wrong

(4) (c) and (d) are correct

Options:
615475225051

BE1547522506. 2



E1547522507. 3
61547522508, 4

Question Number : 102 Question Id ;: 6154755770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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The voltage gain of a common source amphifier shown in following figure 1s

ﬂ-—x'm

2

—— Vi

{a} T gm EL

1+2, 2z,
{b} gmzL

1+ g,
() Enfe

1+z;
‘:d;‘ gmzL
Options:
(1) (a) and (c) are correct

(2) (b) and (d) are correct
(3) (a) 1s correct but (d) 1s wrong

(4) (c) and (d) are correct

Options:
615475225051

BE1547522506. 2



E1547522507. 3
61547522508, 4

Question Number : 103 Question Id ;: 6154755771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Total energy of an absorbed photon 1n eV 1s

(a)

b —
(b) _{_AA)
(c) :(AT]

(d) —

Options are:

(1) (a) and (b) are correct

(2) (a) 1s correct but (c) 1s wrong

(3) (c) 1= correct but (d) 1s wrong

(4) (d) 1s correct but (a) 1s wrong
Options:

E1547522509. 1
B1547522510. 2
B1547522511. 3
G154752251%2. 4

Question Number : 103 Question 1d : 6154755771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Total energy of an absorbed photon 1n eV 1s

12400

Y]

11400

Ry

1200
(c) o
AlA |

AlA )

(d) —

11400

Options are:

(1) (a) and (b) are correct

(2) (a) 1s correct but (c) 1s wrong

(3) (c) 18 correct but (d) 1s wrong

(4) (d) 1s correct but (a) 1s wrong
Options:

E1547522509. 1
61547522510, 2
E1547522511. 3
B1547522512. 4

Question Number : 104 Question Id ;: 6154755772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In MOS technology. the 1solation used 1s

(a) diode 1solation
(b) P-N Junction 1solation
(c) Ox1de 1solation

(d) Vacuum 1solation

Optlons are:

(1) (a) and (c) are correct
(2) (b) 1s correct but (c) 1s wrong
(3) (c) 1s correct but (a) 1s wrong
(4) (b) and (d) are correct

Options:

615475225131
61547522514 2
E1547522515 2
61547522516, 4

Question Number : 104 Question Id : 6154755772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In MOS technology. the 1solation used 1s

(a) diode 1solation
(b) P-N Junction 1solation
(c) Ox1de 1solation

(d) Vacuum 1solation

Optlons are:

(1) (a) and (c) are correct
(2) (b) 1s correct but (c) 1s wrong
(3) (c) 1s correct but (a) 1s wrong
(4) (b) and (d) are correct

Options:
615475225131
61547522514 2



E1547522515. 3
B1547522516. 4

Question Number : 105 Question Id ;: 6154755773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Read the following statements regarding z-transform
(a) The ROC 1s a ring or disk in the z-plane centred at the origin
(b) The ROC contains all poles

(c) If x(n) is a finite duration sequence. then the ROC is the entire z-plane except

possibly z=0 or z=w
(d) If x{n} 1s a right-sided sequence . ROC extends inward from the innermost non-zero

poles in x(z) to z=0

Which of the above statements are correct?
(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (d)
(4) (a) and (c)

Options:
615475225171

E15475225158. 2
BE1547522519. 3
B1547522520. 4

Question Number : 105 Question Id : 6154755773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the following statements regarding z-transform
(a) The ROC 1s a ring or disk in the z-plane centred at the origin

(b) The ROC contains all poles

(c) If x(n) is a finite duration sequence. then the ROC is the entire z-plane except

possibly 2=0 or z=w
(d) If x(n) is a right-sided sequence . ROC extends inward from the innermost non-zero
poles in x(z) to z=0
Which of the above statements are correct?
(1) (a) and (b)
(2) (b) and (c)
(3) (a) and (d)
(4) (a) and (c)
Options:
615475225171
61547522518 2

61547522519, 3
E1547522520. 4

Question Number : 106 Question Id : 6154755774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements regarding the complete incidence matrix {(A] of order

nxb

(a) The element a; of A=1. if branch j is associated with node i and orientation is

towards node 1

(b) The element a; of A=-1, if the branch. j 1s the cut set 1 and the orientation

colncide

(c) The element a; of A=1. if the branch j is associated with node i and orientation is

away from node 1

(d) The element a; of A =0 . if the branch j is not associated with node 1

Which of the above statements are correct?
(1) (a) and (b)
(2)  (b) and (c)
(3) (c) and (d)
(4) (d) and (a)

Options:

61547522521,
61547522522,
61547522523,
61547522524,

[ N N
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Consider the following statements regarding the complete incidence matrix {(A] of order

nxb

(a) The element a; of A=1. if branch j is associated with node i and orientation is

towards node 1

(b) The element a; of A=-1, if the branch. j 1s the cut set 1 and the orientation

colncide

(c) The element a; of A=1. if the branch j is associated with node i and orientation is

away from node 1

(d) The element a; of A =0 . if the branch j is not associated with node 1

Which of the above statements are correct?
(1) (a) and (b)
(2)  (b) and (c)
(3) (c) and (d)
(4) (d) and (a)

Options:

61547522521,
61547522522,
61547522523,
61547522524,

[ N N

Question Number : 107 Question Id : 6154755775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements

(a) BJT 1s a current-controlled device with high input impedance and high gain band
width

(b) FET 1s a voltage-controlled device with high input impedance and low gain bandwidth
(c) UJT 1s a negative resistance device and can be used as an oscillator

(d) FET and UJT can be used for amphfication

Which of the above statements are correct?
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:

615475225251
61547522526, 2
61547522527, 2
61547522528 4

Question Number : 107 Question 1d : 6154755775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Consider the following statements

(a) BJT 1s a current-controlled device with high input impedance and high gain band
width

(b) FET 1s a voltage-controlled device with high input impedance and low gain bandwidth
(c) UJT 1s a negative resistance device and can be used as an oscillator

(d) FET and UJT can be used for amphfication

Which of the above statements are correct?
(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (d)

Options:

615475225251
61547522526, 2
61547522527, 2
61547522528 4

Question Number : 108 Question 1d : 6154755776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



For an instrumentation amphfier, the following parameters are given

(a) high input resistance and low power consumption

(b) low 1input resistance and low power consumption

(c) high CMRR and high slew rate

(d) high CMRR and low slew rate

Which of the following option correctly depicts performance parameters of an
mmstrumentation amphfier?

(1) (b) and (d) are correct

(2) (a) and (d) are correct

(3) (a) and (c) are correct

(4) (b) and (c) are correct
Options:

6154752252591
61547522530, 2
61547522521, 3
E1547522532. 4
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For an instrumentation amphfier, the following parameters are given

(a) high input resistance and low power consumption

(b) low 1input resistance and low power consumption

(c) high CMRR and high slew rate

(d) high CMRR and low slew rate

Which of the following option correctly depicts performance parameters of an
mmstrumentation amphfier?

(1) (b) and (d) are correct

(2) (a) and (d) are correct

(3) (a) and (c) are correct

(4) (b) and (c) are correct
Options:

6154752252591
61547522530, 2
61547522521, 3
E1547522532. 4

Question Number : 109 Question Id : 6154755777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements about Schmitt trigger

(a) The output of a Schmitt Trigger 1= a square wave when Input 1s a sine wave

(b) Schmitt Trigger can be used in Triangular wave and saw tooth wave generators

(c) The comparator with negative feedback 1s said to exhibit hysteresis. a dead band
condition

(d) The output 1s impulse waveform when the input to Schmitt Trigger 1= saw tooth wave

Which of the above statements are correct?
(1) (a) and (b)
(2)  (b)and (c)
(3) (c) and (d)

(4) (b) and (d)

Options:

61547522533,
£1547522534,
61547522535,
61547522536,

o LIRS
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Consider the following statements about Schmitt trigger

(a) The output of a Schmitt Trigger 1= a square wave when Input 1s a sine wave

(b) Schmitt Trigger can be used in Triangular wave and saw tooth wave generators

(c) The comparator with negative feedback 1s said to exhibit hysteresis. a dead band
condition

(d) The output 1s impulse waveform when the input to Schmitt Trigger 1= saw tooth wave

Which of the above statements are correct?
(1) (a) and (b)
(2)  (b)and (c)
(3) (c) and (d)

(4) (b) and (d)

Options:

61547522533,
£1547522534,
61547522535,
61547522536,

o LIRS

Question Number : 110 Question Id : 6154755778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following circuits belong to class of combinational logic circuits?
(a) Full adder

(b) Shaft register

ic) Counter

(d) Multiplexer

Options are:

(1) (a) and (b)
(2)  (a)and (d)
(3) (b) and (c)

(4) (c) and (d)

Options:

61547522537, 1
61547522538 2
E1547522529 2
61547522540, 4
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Which of the following circuits belong to class of combinational logic circuits?
(a) Full adder

(b) Shift register

ic) Counter

(d) Multiplexer

Options are:
(1)  (a)and (b)
(2)  (a)and (d)
3) () and (©)

(4) (c) and (d)

Options:

61547522537, 1
61547522538 2
E1547522529 2
61547522540, 4

Question Number : 111 Question Id : 6154755779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following set of instructions will lead to same result in AX register?
(a) MOV AX, 0305 H OR AX. 3030 H
(b) MOV AX, 0305 H ADD AX. 3030 H
(c) MOV AX. 0305 H XOR AX. 3030 H

(d) MOV AX. 0305 H AND AX . 3F3 FH

Choose the correct answer :

(1) (a) and (d)
(2) (d) and (c)
(3) (a) and (b)

(4) (b) and (d)



Options:

61547522541, 1
61547522542 2
E1547522543 =2
61547522544, 4

Question Number : 111 Question Id : 6154755779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following set of instructions will lead to same result in AX register?
(a) MOV AX, 0305 H OR AX. 3030 H
(b) MOV AX, 0305 H ADD AX. 3030 H
(c) MOV AX. 0305 H XOR AX. 3030 H

(d) MOV AX. 0305 H AND AX . 3F3 FH

Choose the correct answer :

(1) (a) and (d)
(2) (d) and (c)
(3) (a) and (b)

(4) (b) and (d)

Options:

61547522541, 1
61547522542 2
61547522543 o
61547522544 4

Question Number : 112 Question 1d : 6154755780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct for 8051 micro controller?

(a) RAM location 20 H to 2 FH are set aside for bit-addressable read/write memory

(b) Bits P 3.4 and P 3.5 are used to provide the WR and RD signals of external
memories

(c) Direct addressing mode 1z allowed for pushing onto the stack

(d) T x D and R ¥ D pins are TTL compatible and therefore don't require line driver to
make these RS 232 compatible

Choose the correct answer:

(1) (a) and (d)
(2) (b) and (c)
(3) (a) and (c)

(4) (b) and (d)
Options:
615475225451
61547522546 2
61547522547 3
61547522545 4

Question Number : 112 Question Id : 6154755780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct for 8051 micro controller?

(a) RAM location 20 H to 2 FH are set aside for bit-addressable read/write memory

(b) Bits P 3.4 and P 3.5 are used to provide the WR and RD signals of external
memories

(c) Direct addressing mode 1z allowed for pushing onto the stack

(d) T x D and R ¥ D pins are TTL compatible and therefore don't require line driver to
make these RS 232 compatible

Choose the correct answer:

(1) (a) and (d)
(2) (b) and (c)
(3) (a) and (c)

(4) (b) and (d)
Options:
615475225451
61547522546 2
61547522547 3
61547522545 4

Question Number : 113 Question Id : 6154755781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A lIinearly polarized plane wave travelling 1s x-direction with 'E ' in the Y-direction can be

F

& .
represented as — =cE +jwekE,

The following statements are given for the above equation

(a) 1t 18 scalar phasor equation

(b) oE, represents displacement current density

(c) jw € E;, represents conduction current density

(d) If o 20 and the dizplacement current 1s much greater than conduction current. the

medium behaves like imperfect dielectric

Choose the correct option :

(1) both (a) and (b) are correct
(2) both (a) and (d) are correct
(3) both (b) and (c) are correct
{4) both (b) and (d) are correct

Options:

61547522549, 1
61547522550 2
E1547522551. 2
61547522552, 4

Question Number : 113 Question Id : 6154755781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A lIinearly polarized plane wave travelling 1s x-direction with 'E ' in the Y-direction can be

F

& .
represented as — =cE +jwekE,

The following statements are given for the above equation

(a) 1t 18 scalar phasor equation

(b) oE, represents displacement current density

(c) jw € E;, represents conduction current density

(d) If o 20 and the dizplacement current 1s much greater than conduction current. the

medium behaves like imperfect dielectric

Choose the correct option :

(1) both (a) and (b) are correct
(2) both (a) and (d) are correct
(3) both (b) and (c) are correct
{4) both (b) and (d) are correct

Options:

61547522549, 1
61547522550 2
E1547522551. 2
61547522552, 4

Question Number : 114 Question Id : 6154755782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following statements

ol

. lw F
(a) Wave impedance of TM wave in z-directionis Z (TM)=n 1-—-_

)

(b} Wave impedance of TE wave in z-direction is Z. (TE}=

(e Wave impedance of TEM wave in z-directionis Z. (TEM )= 1

1

(d) The characteristic impedanece £, is defined for short length line

Which of the above statements are correct?

(1) (a) and (d) are correct

(2) (a) is correct but (b) is wrong
(3) {e) and (d) are correct

() {a) and (b) are correct
Options:

61547522552 1
E1547522554. 2
B1547522555. 3
B1547522556. 4

Question Number : 114 Question 1d : 6154755782 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Read the following statements

- (w F
(a) Wave impedance of TM wave in z-directionis Z_(TM)=n 1—-—_

(w |

() Wave impedance of TE wave in z-direction is Z. [TE}z

ic) Wave impedance of TEM wave in z-directionis Z_ (TEM )= l

7

(d) The characteristic impedance £, is defined for short length line

Which of the above statements are correct?

(1) {(a) and (d) are correct

(2) {a) is correct but (b) is wrong
(3) {c) and {d) are correct

(4 {a) and (b) are correct
Options:

615475225531
61547522554, 2

Yes



B1547522555. 3
B1547522556. 4

Question Number : 115 Question Id ;: 6154755783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements :

(a) LASER diode generates monochromatic coherent light which reduces chromatic

dispersion
(b) LASER source 1s useful for high power long distance optical communication
(c) LASERs have longer life time than LEDs

(d) LASER diodes are less temperature sensitive that LEDs

Which of the above statements are correct?
(1) (a) and (b)
(2) (a) and (c)
(3)  (b)and (d)

(4) (b) and (c)

Options:

61547522557, 1
61547522558, 2
61547522559 2
61547522560 4

Question Number : 115 Question 1d : 6154755783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following statements :

(a) LASER diode generates monochromatic coherent light which reduces chromatic

dispersion
(b) LASER source 1s useful for high power long distance optical communication
(c) LASERs have longer life time than LEDs

(d) LASER diodes are less temperature sensitive that LEDs

Which of the above statements are correct?
(1) (a) and (b)
(2) (a) and (c)
(3)  (b) and (d)

(4) (b) and (c)

Options:

61547522557, 1
61547522558 2
61547522559, 5
61547522560 4

Question Number : 116 Question Id : 6154755784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the following expression regarding mutual informations I(X.Y)
(a) I(X;:Y)=H(X)-H(Y/X)

(b) I(X;Y)=H(X)-H(X!Y)

(c) I(X;Y)=HX)+H(Y)-H(XY)

(d) I(XY)=HX)+HY)+ H(X.Y)

Which of the above expressions are correct?

(1) (a) and (c)

(2) (b) and (c)

(3) (a) and (d)

(4) (b) and (d)

Options:

61547522561, 1
61547522562 2
61547522562 2
E1547522564 4

Question Number : 116 Question Id : 6154755784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following expression regarding mutual informations I(X.Y)

(a) I(X:Y)=H(X)-H(Y/X)

(b) I(X:Y)=H(X)-H(X!Y)

(c) I(X:Y)=H(X)+H(Y)-H(XY)

(d) I(X:Y)=HX)+HY)+ H(X.Y)
Which of the above expressions are correct?
(1) (a) and (c)

(2) (b) and (c)

(3) (a) and (d)

(4) (b) and (d)



Options:

61547522561, 1
61547522562 2
E1547522562. 2
1547522564, 4

Question Number : 117 Question Id : 6154755785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements regarding the steady state error of type ‘0" system.

where k 1s a constant

: ; _ 1
(a) With unit step input e, = :

]

: 4 : 1 ,
(b) With unit ramp input e, = 7 where k 1s a constant

. . il T 1 ;
(c) With unit parabolic input e, = 5’ where k 15 a constant

(d)  With unit parabolic input e, =
Which of the above statements are correct?
(1) (a) and (b)

(2) (a) and (c)

(3) (b) and (c)

(4) (a) and (d)

Options:

61547522565, 1
61547522566 2
61547522567, 2
61547522568 4

Question Number : 117 Question Id : 6154755785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements regarding the steady state error of type ‘0" system.

g : ; 1 2
(a) With unit step input e, = —— where k 1s a constant
: ) : 1 .
(b) With umit ramp 1input e, = % where k 1s a constant
: . il T 1 ;
(c) With unmit parabolic input e = 5 where k 15 a constant

(d) With unit parabolic input e,, =«
Which of the above statements are correct?
(1) (a) and (b)

(2) (a) and (c)

(3) (b) and (c)

(4) (a) and (d)

Options:
615475225651

E1547522566. 2
B1547522567. 3
B1547522568. 4

Question Number : 118 Question 1d : 6154755786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Following statements are given for DC motors

(a) DC motors require less maintenance than AC motors
(b) DC motors cannot provide high starting torque
(c) DC motors are not suitable for very high speed applications

(d) The methods of speed control of DC motors are simpler and less expensive than those

of AC motors

Which of the following statements are correct?

(1) (a) and (c)
(2) (a) and (b)
(3) (b) and (c)

(4) (c) and (d)

Options:

61547522569, 1
61547522570 2
61547522571, 2
61547522572 4

Question Number : 118 Question 1d : 6154755786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Following statements are given for DC motors

(a) DC motors require less maintenance than AC motors
(b) DC motors cannot provide high starting torque
(c) DC motors are not suitable for very high speed applications

(d) The methods of speed control of DC motors are simpler and less expensive than those

of AC motors

Which of the following statements are correct?

(1) (a) and (c)
(2) (a) and (b)
(3) (b) and (c)
(4) (c) and (d)

Options:



B1547522569. 1
B1547522570. 2
B1547522571. 3
E1547522572. 4

Question Number : 119 Question Id : 6154755787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hst of different resistor configurations are given below
(a) Shunt resistor

(b) Series multiplier resistor

(c) Ayrton shunt

(d) Swamping resistor

Which of the above are used in DC Ammeter?
(1) (a) and (b)
(2) (b) and (d)
(3)  (b)and (c)

(4) (a) and (c)

Options:

615475225731
E1547522574 2
61547522575, 5
61547522576, 4

Question Number : 119 Question Id : 6154755787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A hst of different resistor configurations are given below
(a) Shunt resistor

(b) Series multiplier resistor

(c) Ayrton shunt

(d) Swamping resistor

Which of the above are used in DC Ammeter?
(1) (a) and (b)
(2)  (b)and (d)
(3) (b) and (c)

(4) (a) and (c)

Options:

615475225731
61547522574 2
61547522575 2
61547522576, 4

Question Number : 120 Question 1d : 6154755788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



List of different transducers are given below
(a) Hot-wire meter

(b) Ionization chamber

(c) Magnetostriction gage

(d) Photoconductive cell

Which of the above are passive transducers producing varation in resistance?
(1) (c) and (d)
(2) (a) and (b)
(3) (a) and (d)
(4)  (b) and (c)
Options:
615475225771
615475225708 2

B1547522575. 3
61547522580, 4

Question Number : 120 Question Id : 6154755788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

List of different transducers are given below
(a) Hot-wire meter

(b) Ionization chamber

(c) Magnetostriction gage

(d) Photoconductive cell

Which of the above are passive transducers producing variation in resistance?
(1) (c) and (d)
(2) (a) and (b)
(3) (a) and (d)

(4) (b) and (c)



Options:

61547522577, 1
61547522578 2
E1547522579. 2
61547522580, 4

Question Number : 121 Question Id : 6154755789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the elements of the lists given below :

Tast I List IT
(a) P-N junction diode

: - Eg

b MOSFET = e
(b) (11) %_HDCM(VG -Vr)Vp

(¢ JFET gV

m) I=I,(e—-1
(111) ﬂ(ekT )

(d) Ideal MIS diode v 1

The correct option 1s

(1) (a)-(111), (b)-(11), (c)-(1v). (d)-(1)
(2) (a)-(1). (b)-(11), (c)-(111). (d)-(iv)
(3) (a)-(11), (b)-(111), (c)-(v). (d)-(1)
4)  (a)-Gv). (b)-(1). (e)-(1). (d)-(111)

Options:

61547522581, 1
61547522582 2
61547522582 5
61547522584, 4

Question Number : 121 Question Id : 6154755789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of the lists given below :

TLast I Last IT
(a) P-N junction diode : Eg
(1) @h—(1+~§——W3 =0

b MOSFET - z
) (1) %PDCM(VG -Vr)Vp

() JFET qV

m) I=I(e—-1
(111) g{ekT )

(d) Ideal MIS diode v

The correct option 1s

(1) (a)-(1), (b)-(12), (©)-(1v). (d)-(2)
(2) (a)-(1). (b)-(13), (e)-(111), (d)-(1v)
(3) (a)-(1). (b)-(a11), (e)-(1v). (d)-(2)
(4) (@)-(v). (b)-(1). (c)-(11). (d)-(111)

Options:

61547522581, 1
61547522582 2
E1547522582. 2
61547522584, 4

Question Number : 122 Question Id : 6154755790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I and Last I

List I List IT
(Colour) (Layer)
(a) Green (1) Contact cut
(b) Red (1) Metal
(c) Blue (1) Thinox
(d)y Black (1v) Polysilicon

The correct option 1s

(1) (a)-(). (b)-(). (c)-(a11). (d)-(1v)
(2)  (a)-(1), (b)-(v). (c)-(1). (d)-(1)
(3)  (a)-(). (b)-@a1). (c)-(av). (d)-(1)
@ (@)-v). (b)-@). (e)-@). (d)-(iii)

Options:

£1547522585.
E154752258E.
1547522587,
61547522588,

[

Question Number : 122 Question Id ;: 6154755790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the elements of List I and Last I

List I List IT
{Colour) (Layer)
(a) Green (1) Contact cut
(b) Red (1) Metal
(c) Blue (m) Thinox
(d) Black (iv) Polysilicon

The correct option 1s

(1) (@-0. (b)-@). (e)-(1). (d)-av)
(2)  (a)-(id), (b)-(iv). (c)-(i1). (d)-(1)
(3)  (a)-(). (b)-(u1). (c)-(v). (d)-(1)
4 (@-v). (b)-). (e)-(1). (d)-(ii1)



Options:

61547522585, 1
61547522586 2
E1547522587. 2
61547522588, 4

Question Number : 123 Question Id : 6154755791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the elements of List T with List IT

List I List IT
(Y - parameters) (Transmission parameter)
a) Y ; DT
(a) 11 (i) -
(b)) ¥ (i) A/B
() ¥ (m) D/B
d Y, (v) -1/B

The correct option 1s

(1) (a)-@). (b)-(v). (e)-(). (d)-(111)
(2)  (a)-(1), (b)-(v). (e)-(111). (d)-(1)
(3) (a)-(11). (b)-(). (c)-(v). (d)-(11)
(4)  (a)-(i1). (b)-(v). (e)-(1). (d)-(11)

Options:

61547522589, 1
61547522590 2
61547522591, 2
61547522592 4

Question Number : 123 Question 1d : 6154755791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I with List IT

List I List IT
(Y - parameters) (Transmission parameter)
a Y " DT
@ ¥ g -2
(b) ¥ (1) A/B
() ¥y () D/B
d Y, (iv) -1/B

The correct option 1s

1 (@-@). (b)-(w). ()-@). (d)-(1)
(2)  (a)-@). (b)-(iv). (c)-(i). (d)-()
(3  (a)-au). (0)-0). (€)-av). (d)-(1)
@ (a)-Gu). (b)-Gv). (¢)-1). (d)-{1)

Options:

61547522589, 1
61547522590 2
61547522591, 2
61547522592 4

Question Number : 124 Question 1d : 6154755792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements in List I and Last IT

List I List IT
(Feedback type) (Amplhfier type)
(a) Voltage-series (1)  Current amplifier
(b) Voltage-shunt (1) Voltage amplifier
(c¢) Current-series (1) Trans resistance amphfier
(d) Current-shunt (1v) Trans conductance amphfier

Choose the correct option

(1) (a)-(1). (b)-id). (¢)-(v). (d)-(1)
(2)  (@-@). d)-av). (e)-(). (d)-(111)
(3) (a)-(11), (b)-(111), (e)-(1). (d)-(iv)
4 (2)-11). (b)-(iv). (e)-(iii). (d)-(1)

Options:
1547522592 1

E1547522594. 2
B15475225595. 3
B15475225596. 4

Question Number : 124 Question 1d : 6154755792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the elements in List I and Last IT

List I List IT
(Feedback type) (Amplhfier type)
(a) Voltage-series (1)  Current amplifier
(b) Voltage-shunt (1) Voltage amplifier
(c¢) Current-series (1) Trans resistance amphfier
(d) Current-shunt (1v) Trans conductance amphfier

Choose the correct option

(1) (a)-(1). (b)-id). (¢)-(v). (d)-(1)
(2)  (@-@). d)-av). (e)-(). (d)-(111)
(3) (a)-(11), (b)-(111), (e)-(1). (d)-(iv)
4 (2)-11). (b)-(iv). (e)-(iii). (d)-(1)

Options:
1547522592 1

E1547522594. 2
B15475225595. 3
B15475225596. 4

Question Number : 125 Question 1d : 6154755793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Match the elements of List I and List IT

(a)

(b)

(c)

(d)

List I

(Type of memory)
Field-programmable

Mask-programmable

Associative

Flash

Choose the correct option

(1)
(2)
(3)
(4)

Options:

(a)-(iii). (b)-(i), (c)-(iv). (d)-()
(a)-(v). (b)-(1). (¢)-(i1). (d)-(ii)
(a)-(i). (b)-(iv). (c)-(ii). (d)-@)
(a)-3). (b)-(iv). (c)-(i1). (d)-(iii)

61547522597, 1
6154752253958, 2
E15475225590. 3
E1547522600. 4

(1)

(1)

(111)

(1v)

List IT
(Feature)

Referring to a PROM that can be
programmed only by manufacturer

Referring to the content addressable
Memory

Non-volatile memory which can be
written and erased electrically

Referring to a PROM that can be
programmed by the user

Question Number : 125 Question Id : 6154755793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I and List IT

(a)

(b)

(c)

(d)

List I

(Type of memory)
Field-programmable

Mask-programmable

Associative

Flash

Choose the correct option

(1)
(2)
(3)
(4)

Options:

(a)-(iii). (b)-(i), (c)-(iv). (d)-()
(a)-(v). (b)-(1). (¢)-(i1). (d)-(ii)
(a)-(i). (b)-(iv). (c)-(ii). (d)-@)
(a)-3). (b)-(iv). (c)-(i1). (d)-(iii)

61547522597, 1
6154752253958, 2
E15475225590. 3
E1547522600. 4

(1)

(1)

(111)

(1v)

List IT
(Feature)

Referring to a PROM that can be
programmed only by manufacturer

Referring to the content addressable
Memory

Non-volatile memory which can be
written and erased electrically

Referring to a PROM that can be
programmed by the user

Question Number : 126 Question Id : 6154755794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I and List IT

Tist I

(8051 instructions)

List IT

(Equivalent instructions for timer
controlled register)

(a) SET B TRO () SET BTCON.5
(b) CLRTRI1 (1) CLR TCON.7
(¢¢ SETBTFO (1) SET B TCON.4
(d) CLRTF1 (iv) CLR TCON.6

Choose the correct option

(1) (a)-(). (b)-(i). (c)-(1v). (d)-(ii1)

(2} {ﬂ)-{lu}, (b_}-(lV}, (C)'(l) (d}'(]-l}

(3) (a)-(11), (b)-(1). (e)-(11). (d)-(v)

(4) (a)-(1v), (b)-(111), (c)-(11), (d)-(1)
Options:

61547522601, 1
E1547522602. 2
61547522603, 3
E1547522604. 4

Question Number : 126 Question Id : 6154755794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I and List IT

Tast I List IT

(8051 instructions) (Equivalent instructions for timer
controlled register)

(a) SET B TRO () SET BTCON.5
(b) CLRTRI1 (1) CLR TCON.7
(¢¢ SETBTFO (1) SET B TCON.4
(d) CLRTF1 (iv) CLR TCON.6

Choose the correct option

(1) (a)-(1). (b)-(1). ()-(1v). (d)-(111)
(2} {ﬂ)-{lu}, (b_}-(l’i."), (C)'(l) (d}'(ll}
(3)  (a)-(i1). (b)-(1). (c)-(111). (d)-(iv)
(4) (a)-(1v). (b)-(111), (c)-(11). (d)-(1)

Options:

1547522601, 1

E154d7E22E02. 2

61547522603, 3
E1547522604. 4

Question Number : 127 Question Id : 6154755795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the elements of List T and List IT

List I List IT
(Band name) (Frequency range. GHz)
(a) L (1) 3.9-8.0
by C (1) 1.0-1.5
() Ka (11) 18.0-—26.5
(d K (iv) 26.5—40

Choose the correct option :

(1) (@)-v). (b)-(id), (e)-(11). (d)-(1)
2) (-, (b)-(11). (e)-(iv), (d)-(1)
(3) (a)-(11). (b)-(1). (c)-(av). (d)-(111)
4)  (a)-(1). (b)-(). (e)-(111). (d)-(1v)



Options:

61547522605, 1
1547522606 2
E1547522607. 2
1547522608, 4

Question Number : 127 Question Id : 6154755795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the elements of List T and List IT

List I List IT
(Band name) (Frequency range. GHz)
(a) L (i) 3.9-8.0
by C (1) 1.0-1.5
() Ka (11) 18.0-—26.5
(d K (iv) 26.5—40

Choose the correct option :

(1) (a)-(1v). (b)-(111), (€)-(11). (d)-(1)
(2)  (a)-(). (b)-(1), (c)-(v), (d)-(11)
(3)  (a)-(). (b)-(). (c)-(v). (d)-(1i1)
(4) (a)-(11), (b)-(2). (c)-(111). (d)-(1v)

Options:

61547522605, 1
E1547522606. 2
1547522607, 5
61547522608, 4

Question Number : 128 Question Id : 6154755796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the elements of List I and Last IT

List I Last IT
(Signaling scheme) (Bit error rate)

(a) Coherent Binary PSK (i) %erfc {"u"l E,/2N,)

(b) Coherent Binary FSK (ii) %ezp (-E,/2N,)

DPSK ¥ o
© (111) EEKP{—EEJ | Ny)

(d) Non coherent binary FSK (i) %er fe {*."Im

Choose the correct option :

(1) (a)-av). (b)-(). (¢)-(ii1), (d)-(1)
(2) (a)-(1). (b)-(1). (e)-(11). (d)-(1v)
(3)  (a)-(1), (b)-Q). (¢)-(11). (d)-(1v)
(4) (a)-(11). (b)-(m1), (c)-(iv). (d)-(1)

Options:

£1547522609. 1
15475226100 2
61547522611,
61547522612 4

Question Number : 128 Question Id : 6154755796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the elements of List I and Last IT

List I Last IT
(Signaling scheme) (Bit error rate)

(a) Coherent Binary PSK (i) %erfc {"u"l E,/2N,)

(b) Coherent Binary FSK (ii) %ezp (-E,/2N,)

DPSK ¥ o
© (111) EEKP{—EEJ | Ny)

(d) Non coherent binary FSK (i) %er fe {*."Im

Choose the correct option :

(1) (a)-av). (b)-(). (¢)-(ii1), (d)-(1)
(2) (a)-(1). (b)-(1). (e)-(11). (d)-(1v)
(3)  (a)-(1), (b)-Q). (¢)-(11). (d)-(1v)
(4) (a)-(11). (b)-(m1), (c)-(iv). (d)-(1)

Options:

£1547522609. 1
15475226100 2
61547522611,
61547522612 4

Question Number : 129 Question Id ;: 6154755797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the elements of List I and Last IT with respect to SCR triggering technigues

(a)

(b)

(c)

(d)

List I
(Triggering Technique)
High Voltage

dV/dT

(Gate current

Light

Choose the correct option

(1)
(2)
(3)
(4)

Options:

(a)-(111). (b)-(1v). (e)-(2). (d)-(11)
(a)-(1). (b)-(ii), (¢)-(iv). (d)-(iii)
(a)-(iv). (b)-(111), (¢)-(11). (d)-(1)
(a)-(11). (b)-(1). (c)-(a11). (d)-(1v)

E1547522613. 1
E1547522614. 2
E1547522615. 3
B1547522616. 4

(1)

(11)

(111)

(iv)

Last II
(Operation)

A light wave strikes the junction of
SCR

A positive gate voltage 1s applied
between the gate and cathode
termunals

Rate of rise of anode-cathode voltage 1s
high

Anode to cathode voltage 1s greater
than forward break down voltage

Question Number : 129 Question Id ;: 6154755797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the elements of List I and Last IT with respect to SCR triggering technigues

(a)

(b)

(c)

(d)

List I
(Triggering Technique)
High Voltage

dV/dT

(Gate current

Light

Choose the correct option

(1)
(2)
(3)
(4)

Options:

(a)-(111). (b)-(1v). (e)-(2). (d)-(11)
(a)-(1). (b)-(ii), (¢)-(iv). (d)-(iii)
(a)-(iv). (b)-(111), (¢)-(11). (d)-(1)
(a)-(11). (b)-(1). (c)-(a11). (d)-(1v)

E1547522613. 1
E1547522614. 2
E1547522615. 3
B1547522616. 4

(1)

(11)

(111)

(iv)

Last II
(Operation)

A light wave strikes the junction of
SCR

A positive gate voltage 1s applied
between the gate and cathode
termunals

Rate of rise of anode-cathode voltage 1s
high

Anode to cathode voltage 1s greater
than forward break down voltage

Question Number : 130 Question Id ;: 6154755798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the elements of List I and Last IT

Last I
(DVM)
(a) Ramp-type

(b)  Dual-slope convertor

() Stair-case ramp

(d) Successive approximation

Choose the correct option

(1) (a)-(wv). (b)-(b). (e)-(11). (d)-(1)
(2)  (2)-(D. (b)-O). (¢)-av). (d)-(11)
(3)  (a)-1). (b)-(i1), (e)-(11). (d)-(v)
@ (-G, (b)-(v), (©)-(), (d)-(i)
Options:

B1547522617. 1

E1547522618. 2

B15475226815. 3
B1547522620. 4

(1)
(11)

(111)

(1v)

List IT
(Characteristic)
Automatic zero correction

Linear ramp voltage rises from oV to
level of input voltage

Binary regression

Internally generated stair case ramp
voltage

Question Number : 130 Question Id : 6154755798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the elements of List I and List IT

Last I
(DVM)
(a) Ramp-type

(b) Dual-slope convertor

(c) Stair-case ramp

(d) Successive approximation

Choose the correct option

(1) (a)-av). (b)-(). (c)-(mm). (d)-(1)
(2 (@-1). (b)-0). (c)-(v). (d)-(111)
(3)  (a)-@). (b)-(1). (c)-(11). (d)-(v)
(4)  (a)-(w), (b)-(v). (c)-(). (d)-(w)

(1)
(11)

(11)

(1v)

List IT
{Characteristic)
Automatic zero correction

Linear ramp voltage rises from oV to
level of input voltage

Binary regression

Internally generated stair case ramp
voltage



Options:

61547522617, 1
61547522618 2
1547522819 2
1547522620, 4

Question Number : 131 Question Id : 6154755799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Important elements of sampling circuit of sampling oscilloscope are given below
{a) Voltage comparator

(b) Blocking oscillator

ie) Staircase generator

(d) Ramp generator

The correct sequence of the above elements in the sampling circuit in the direction from

trigger input to horizontal signal is
(1) (a), (b). (e), (d)
(2) (b). (d). (c). (a)
(3 (a). (b), (d), {(c)
4 (b (D). (a). ()

Options:

61547522621, 1
61547522622 2
E1547522622. 2
1547522624, 4

Question Number : 131 Question Id : 6154755799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Important elements of sampling circuit of sampling oscilloscope are given below
(a) Voltage comparator

(b) Blocking oscillator

ie) Staircase generator

(d) Ramp generator

The correct sequence of the above elements in the sampling circuit in the direction from

trigger input to horizontal signal is
(H (a) (b, (o). (d)
(2) (b). (d), (). (a)
(3) (a), (b), (d), (c)
4 (. (. (a). ()

Options:

61547522621,
61547522622,
61547522623,
E1547522624.

[ N

Question Number : 132 Question Id : 6154755800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 8051. Program Status Word (PSW) 1s 8-bit flag register having following status flag bits

@ AC
® RSl
© CY
d OV

Arrange these in ascending order of bit position in PSW register
(1)  (d), (0. (a). ()
(2)  (a). (d). (b). (c)
3 (). (). (). (d)

(4) (c). (a). (b). (d)



Options:

61547522625, 1
1547522626 2
E1547522827. 2
1547522628, 4

Question Number : 132 Question Id : 6154755800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In 8051. Program Status Word (PSW) 1s 8-bit flag register having following status flag bits

(a) AC
(b) R31
(c) CY
(d) Y

Arrange these in ascending order of bit position in PSW register
(1) (d). (b). (a). (c)
(2) (a), (d), (b). (c)
(3) (b). (c). (a). (d)
(4) (). (a). (b). (d)
Options:
E1E47FEZZ2EZE 1
C1E47E22E26. 2

B1547522627. 3
B1547522628. 4

Question Number : 133 Question Id ;: 6154755801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Consider the following logic famihies

(a) MOS
(b) TTL
(c) RTL
(d) ECL

Rearrange these logic families according to their propagation delay in descending order
(1)  (a).(d). (c). (b)
(2) (d). (b). (). (a)
(3) (a). (c). (b). (d)

4 (D). (a). (). (d)

Options:

61547522629, 1
61547522630 2
61547522621, 2
E1547522E832. 4

Question Number : 133 Question Id : 6154755801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following logic famihies

(a) MOS
(b) TTL
(c) RTL
(d) ECL

Rearrange these logic families according to their propagation delay in descending order
(1) (a), (d). (c). (b)
(2) (d). (b). (c). (a)
(3) (a). (c). (b). (d)

4 (b (@) (). (d)
Options:
61547522629, 1
61547522630 2
61547522621 2



B1547522632. 4

Question Number : 134 Question Id : 6154755802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Four sources are generating information as given below

(a) Source lﬁplzi.pizi,pgzi_pizi
(b) Source 2—>p1=é,p2=%__p3=%_p4=%
(c) Source 3—>p1=%,p2=%__p3=i__p4=%
(d) Source 4%;'1:%,;:2:&_;}3:&.&:%

Arrange these sources in the descending order of their entropy (H)

(1)  (e). (d), (a). (b)
(2) (a). (d). (c). (b)
(3)  (d), (c). (a). (b)
4 (b).(a). (). (D)

Options:

61547522633 1
61547522624, 2
61547522635 2
61547522636 4

Question Number : 134 Question 1d : 6154755802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Four sources are generating information as given below

1 1 1 1
a Sourcel o> p,=—. p=—.p.=—.p, =—
(a) By = By ==y

1 1 1 1

(b) ource i 5’ Pa 4.333 3 Dy 3
1 1 1 1

S o R S Mo G VeI o O ST

(c) ource D 9 Ba 2 » P3 1 » P4 3
1 1 1 1

T RL O O
(d) ource o) = Ps . P . Py =

Arrange these sources in the descending order of their entropy (H)

(1) (c). (d), (a). (b)
(2) (a). (d). (c). (b)
(3) (d). (c). (a). (b)
(4) (b). (a). (c). (d)

Options:

£1547522633. 1
E1547522E834 2
61547522635, 5
61547522636 4

Question Number : 135 Question Id ;: 6154755803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following materials in order of increasing mobility of holes (at 300 K)

(a) C

(b) Ge

(c) S1C
(d) GaAs

The correct sequence 1s

(1) (d). (a). (b). (c)
(2) (c). (d), (a), (b)
(3) (b). (c). (d). (a)

(4) (a). (b). (c). (d)

Options:
E1547522E37.

E1547522638.
BE1547522639.
B1547522640,

[ N

Question Number : 135 Question 1d : 6154755803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the following materials in order of increasing mobility of holes (at 300 K)

(a) C

(b) Ge

(c) S1C
(d) GaAs

The correct sequence 1s

(1) (d). (a). (b). (c)
(2) (c). (d), (a), (b)
(3) (b). (c). (d). (a)

(4) (a). (b). (c). (d)

Options:
E1547522E37.

E1547522638.
BE1547522639.
B1547522640,

[ N

Question Number : 136 Question Id : 6154755804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(Given below are two statements. One 1s labelled as Assertion (A) and the other 1s labelled as

reason (R) :

Assertion (A) : Gain margin 1s the factor by which the system gain can be decreased to
drive it to the verge of instability

Reasons (R) : Gain margin is the reciprocal at the gain at frequency at which the phase

angle becomes 180°

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true
Options:

61547522641, 1

1547522642 2

61547522643 3

1547522644 4

Question Number : 136 Question Id : 6154755804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. One 1s labelled as Assertion (A) and the other 1s labelled as

reason (R) :

Assertion (4) : Gain margin 1s the factor by which the system gain can be decreased to
drive it to the verge of instability

Reasons (R) : Gain margin is the reciprocal at the gain at frequency at which the phase

angle becomes 180°

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true

Options:

61547522641, 1
61547522642 2
61547522643 2
61547522644 4

Question Number : 137 Question Id : 6154755805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two statements. One 1= labelled as Assertion (A) and the other 12 labelled as

reason (R) :

Assertion (A):  Optical fibers have higher bandwidth as compared to conventional copper

cables.

Reasons (R) : The information carrving capacity of optical fiber 1s limited by Rayleigh

scattering loss.
Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1= false but (R) 1s true
Options:



BE1547522645. 1
B1547522684E. 2
B1547522647. 3
615475226458, 4

Question Number : 137 Question Id : 6154755805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements. One 1z labelled as Assertion (A) and the other 12 labelled as

reason (R) :

Assertion (A):  Optical fibers have higher bandwidth as compared to conventional copper
cables.

Reasons (R) : The information carrving capacity of optical fiber 1z limited by Rayvleigh

scattering loss.

Choose the correct option

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true and (R) 1s not the correct explanation of (4)
(A) 12 true but (R) 1s false

(A) 1s false but (R) 1s true

61547522645 1
61547522646, 2
E1547522647. 3
E1547522648. 4

Question Number : 138 Question Id ;: 6154755806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements. One 1s labelled as Assertion (A) and the other 1s labelled as

reason (R) :

Assertion (A):  The process of testing the frequency response of amplifier and filters can
be done by sweep frequency generator that automatically varies its
frequency over a pre-determined range.

Reasons (R) : The sweep frequency generator should have a ramp generator which

applhes a linear ramp voltage to the input of a voltage tuned oscillator
(VTO)

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1z not the correct explanation of (&)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

61547522649, 1
61547522650 2
61547522851, 2
E1547522E852 4

Question Number : 138 Question Id : 6154755806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements. One 1s labelled as Assertion (A) and the other 1s labelled as

reason (R) :

Assertion (A):  The process of testing the frequency response of amplifier and filters can
be done by sweep frequency generator that automatically varies its
frequency over a pre-determined range.

Reasons (R) : The sweep frequency generator should have a ramp generator which

applhes a linear ramp voltage to the input of a voltage tuned oscillator
(VTO)

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true and (R) 1z not the correct explanation of (4)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

61547522649, 1
61547522650 2
61547522851, 2
E1547522E852 4

Question Number : 139 Question Id : 6154755807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements. One 12 labelled as Assertion (A) and the other 1= labelled as
reason (R) :

Assertion (A):  Clocked R-S filpflops are considered semi-transparent.

Reasons (R) : The output @ of a clocked R-S flipflop changes state 1n response to input
changes immediately provided ENABLE 1s hagh.

Choose the correct option

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false
(4) (A) 1= false but (R) 1s true
Options:
61547522653 1
1547522654 2

61547522655, 3
E1547522656. 4



Question Number : 139 Question Id : 6154755807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements. One 1= labelled as Assertion (A) and the other 1s labelled as
reason (R) :

Assertion (A):  Clocked R-S filpflops are considered semi-transparent.

Reaszons (R) : The output @ of a clocked R-S flipflop changes state 1n response to input
changes immediately provided ENABLE 1s hagh.

Choose the correct option

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 12 false but (R) 1s true
Options:
61547522653 1
61547522654 2
61547522655 3
1547522656, 4

Question Number : 140 Question Id : 6154755808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements. One 1s labelled as Assertion (A) and other 1s labelled as
reason (R) :

Assertion (A):  The bipolar junction transistor is designed to get large £.

Reasons (R) : During fabrication. the base width 1s kept small.

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false
(4) (A) 1= false but (R) 1s true
Options:
15475226571
61547522658 2

E1547522659. 3
E154752Z2660. 4

Question Number : 140 Question Id : 6154755808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements. One 1s labelled as Assertion (A) and other 1s labelled as
reason (R) :

Assertion (A):  The bipolar junction transistor is designed to get large §.

Reasons (R) : During fabrication. the base width 1s kept small.

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options:
15475226571
E1547522858. 2
1547522659 2
61547522660 4

Sub-Section Number: 2
Sub-Section I1d: 615475256
Question Shuffling Allowed : Yes

Question Id : 6154755809 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

Instruction : Based on the following paragraph. answers the next five questions.

The scaling down of feature size generally leads to improved performance and 1t 1s important
to understand the effect of scaling. Micro electronic technology may be characterized 1n
terms of several indicators or figure of merit, such as minimum feature size. number of gates
on one chip, power dissipation. maximum operating frequency etc. Many of these figure of
merits (FOMs) can be improved by shrinking the dimensions of transistors, interconnections
and separation between the features and by adjusting the doping levels and supply voltages.
The most commonly used models are the constant electric field scaling model and constant
voltage scaling model. The two scaling factors ‘e’ and * #° are used.

Sub questions

Question Number : 141 Question Id : 6154755810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In a MOSFET, the gate capacitance 1s scaled by
(1) Ba 2 pla°

(3) Bla 4) alp’

Options:



B1547522661. 1
B15475226862. 2
B1547522663. 3
E1547522664. 4

Question Number : 142 Question 1d : 6154755811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a MOSFET. the carrier density 1s scaled by

(1) 1/p (2) lle
(3) Bla 4 1
Options:

E1547522665. 1
E154752266E6. 2
B1547522667. 3
B1547522668. 4

Question Number : 143 Question Id ;: 6154755812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The saturation current 1s MOSFET 1s scaled by

1 1l 2 1/8
3 alp @ pla
Options:

B1547522669. 1
B1547522670. 2
G1547522671. 3
E1547522672. 4

Question Number : 144 Question Id : 6154755813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The power dissipation per unit area 1s scaled by

3 a

(1) al B (2 alp-

o o

(3) a“ /B 4) alf”

Options:

61547522673, 1
E1547522674. 2
E1547522675 2
1547522676, 4



Question Number : 145 Question Id : 6154755814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The current density 1s scaled by

1  pla @ o’/ p?
3) a 4 pla”
Options:

E1547522677. 1
E1547522675. 2
BE1547522678. 3
E1547522680. 4

Question Id : 6154755809 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension

Instruction : Based on the following paragraph. answers the next five questions.

The scaling down of feature size generally leads to improved performance and 1t 1s important
to understand the effect of scaling. Micro electronic technology may be characterized 1n
terms of several indicators or figure of merit, such as minimum feature size. number of gates
on one chip, power dissipation. maximum operating frequency etc. Many of these figure of
merits (FOMs) can be improved by shrinking the dimensions of transistors, interconnections
and separation between the features and by adjusting the doping levels and supply voltages.
The most commonly used models are the constant electric field scaling model and constant
voltage scaling model. The two scaling factors ‘e’ and * #° are used.

Sub questions

Question Number : 141 Question Id : 6154755810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a MOSFET, the gate capacitance 1s scaled by

(1) Bat (2) pBla
(3) flea (4) alfp®
Options:

B1547522661. 1
B15475226862. 2
E1547522663. 3
61547522664, 4

Question Number : 142 Question Id : 6154755811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In a MOSFET. the carrier density 1= scaled by

(1) 118 (2) lla
(3) Bla 4 1
Options:

E15475226E65. 1
E1547522666. 2
B1547522867. 3
G1547522668. 4

Question Number : 143 Question 1d : 6154755812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The saturation current 1s MOSFET 1= scaled by

1) 1le (2) 18
(3) al B 4 Bl
Options:

61547522665, 1
E1547522670. 2
E1547522671. 3
B1547522672. 4

Question Number : 144 Question Id : 6154755813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The power dissipation per unit area 1s scaled by

(1) al B (2) & IJBE
3) B @ alp’
Options:

61547522673 1
B1547522674. 2
B1547522675. 3
B1547522676. 4

Question Number : 145 Question Id ;: 6154755814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The current density 1s scaled by

1) fla @ alp

o aQ a

(3) a/ 4 pgla



Options:

61547522677, 1
1547522678 2
E1547522679. 2
1547522680 4

Sub-Section Number: 3
Sub-Section 1d: 615475257
Question Shuffling Allowed : Yes

Question Id : 6154755815 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension

Instruction : Based on this paragraph. answer the next five questions.

The first instrument to measure any sort of spectral content of sighals was the harmonic
distortion analyzer. More sophisticated analvzers called wave analyvzers could separate the
harmonics and non-harmonic distortions and evaluate each one. If the wave analyzer could
be swept 1n frequency electronically. while an oscilloscope 1= used in lieu of the output meter,
and 1f the sweep could be done at rapid rate so that the display appeared constant, a real-
time pilcture of the spectrum of the input signal could be observed. VHF spectrum analyzer
usually covers the range from 10 KHz to 300 KHz.

Sub questions

Question Number : 146 Question Id : 6154755816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Spectrum Analyzer 1s similar to

(1) Up-converting superheterodyne transmitter

(2) Down-converting superheterodyne transmitter

(3) Down-converting superheterodyne receiver

(4) Up-converting superheterodyne receiver
Options:

B1547522681. 1
B1547522682. 2
B15475226883. 3
615475226854, 4

Question Number : 147 Question 1d : 6154755817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The first lpcal oiscillatﬁr of a spectrum analyzer us_ua]l}' covers a frequency range of less than
an octave 1s easily turned with which of the following

(1) Low-pass filter

(2) Varactor diode

(3) Light Ematting diode

(4) Zener diode

Options:

61547522685, 1
61547522686, 2
61547522687, 2
61547522688, 4

Question Number : 148 Question 1d : 6154755818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In VHF spectrum Analyzer, two types of frequency instabilities which will cause difficulties.
when narrow frequency ranges are displayed. are known as

(a) Short-term instability
(b) Phase-noise

(c) Correlation-noise

(d) Long-term instability
Choose the correct option

(1) (a) and (c)

(2)  (b) and (a)

(3) (c) and (d)

(4) (b) and (d)

Options:

61547522689, 1
61547522690 2
E1547522E891. 2
1547522692, 4

Question Number : 149 Question Id : 6154755819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The noise level of the spectrum analyzer can be related to Noise Figure (NF) and IF
Bandwidth by which of the following formula

(1) 114 dBm+20 log(BW /1MHz)+ NF
(2) —114 dBm + 10 log(BW /1MHz)+ NF
(3)  —14dBm+10log(BW /1GHz)+ NF

(4) —14 dBm+20log(BW /1GHz |+ NF



Options:

61547522693, 1
61547522694 2
E1547522E895 2
1547522696, 4

Question Number : 150 Question Id : 6154755820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The dynamic range of a spectrum analyzer (in dB) with a third-order intercept point (IP) of
+26 dBM and a noise level (MDS) of -85 dBm 1s

(1) 744dB
(2) —-59 dB
(3) 37 dB
(4) -111dB

Options:

B15475226597. 1
615475226398, 2
615475226399, 3
61547522700, 4

Question Id : 6154755815 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Instruction : Based on this paragraph. answer the next five questions.

The first instrument to measure any sort of spectral content of signals was the harmonic
distortion analyzer. More sophisticated analvzers called wave analyzers could separate the
harmonics and non-harmonic distortions and evaluate each one. If the wave analyzer could
be swept 1n frequency electronically. while an oscilloscope 1s used 1n lieu of the output meter,
and if the sweep could be done at rapid rate so that the display appeared constant. a real-
time pilcture of the spectrum of the input signal could be observed. VHF spectrum analyzer
usually covers the range from 10 KHz to 300 KHz.

Sub questions

Question Number : 146 Question Id : 6154755816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Spectrum Analyzer 1s stmilar to

(1) Up-converting superheterodyne transmitter

(2) Down-converting superheterodyne transmitter
(3) Down-converting superheterodyne receiver
(4) Up-converting superheterodyne receiver

Options:



B1547522681. 1
B15475226882. 2
B15475226883. 3
615475226854, 4

Question Number : 147 Question Id : 6154755817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The first lpcal D:Sllillatﬁr of a spectr:um analyzer us_ua]l}' covers a frequency range of less than
an octave 13 easlly turned with which of the following

(1) Low-pass filter

(2) Varactor diode

(3) Light Emitting diode

(4) Zener diode

Options:

1547522685, 1
E1547522886. 2
1547522687, o
61547522688, 4

Question Number : 148 Question Id : 6154755818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In VHF spectrum Analyzer, two types of frequency instabilities which will cause difficulties.
when narrow frequency ranges are displayved. are known as

(a) Short-term instability
(b) Phase-noise

(c) Correlation-noise

(d) Long-term instability
Choose the correct option

(1) (a) and (c)

(2) (b) and (a)

(3) (c) and (d)

(4) (b) and (d)

Options:

61547522689, 1
61547522690 2
61547522691, 2
1547522692 4

Question Number : 149 Question Id : 6154755819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The noize level of the spectrum analyzer can be related to Noise Figure (NF) and IF
Bandwidth by which of the following formula

(1)  —114 dBm+20 log(BW /1MHz )+ NF

(2) —114 dBm + 10 lng{BWﬂlMHz];NF
(3) ~14dBm+10log (BW /1GHz |+ NF

(4) —14 dBm+20log(BW /1GHz |+ NF
Options:

BE15475226593. 1
61547522654, 2
61547522635 3
E15475226396. 4

Question Number : 150 Question Id : 6154755820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The dynamic range of a spectrum analyzer (in dB) with a third-order intercept point (IP) of
+26 dBM and a noise level (MDS) of -85 dBm 1s

(1) 744dB
(2) —59 dB
(3) 37 dB
(4) -111dB

Options:

B15475226597. 1
B15475226598. 2
615475226595, 3
61547522700, 4



